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Question Number : 1 Question Id : 9277595481 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is related to the third term on the same basis as the second term is related to the first term.
Veterinarian : Animals :: Orthopaedic : ?

Options :
1. * Eyes
2. # Kids
3. % Brain

4. % Bone

Question Number : 1 Question Id : 9277595481 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 oy &1 999 B S R Ue J I UHR ¥ Ja&fd § oy R ¥ k1 Ue Ugd Ue § Yafdd 7
tI'~‘{Iﬁ|ﬁ7_(\‘:l$:q‘-\ﬂ:: U : 2

Options :

1. % fid

2. % g

3. % ARKTsh

4.« AHRY

Question Number : 2 Question Id : 9277595482 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

1. ¥ QRUZ
2. % JNQT
3. ¥ GHKP
4. % ZADI

Question Number : 2 Question Id : 9277595482 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu u fiwedl A @ & e (Rfd % T THH 81 gTlTd, T fAded 3 diF o1 aRE Tl 8| 39 fdhed o1 I &% oY 30 ¥ 3T B |
Options :

1. 8 QRUZ

2. ¥ JNQT

3. ¥ GHKP

4. % ZADI

Question Number : 3 Question Id : 9277595483 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

1. # (3,10, 101)
2. % (5,26,677)
3. % (9, 82, 6725)
4. ¥ (6,37,1368)

Question Number : 3 Question Id : 9277595483 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T T fawed & 9 & Te Ay e I 90 § | 8TalD, Uh fAwed o1 9 & de -Te] ¢ | 39 [aded &1 78 &3 oIl 3 4 3T |
Options :

1. # (3,10, 101)

2. % (5,26,677)

3. % (9, 82, 6725)

4. ¥ (6,37,1368)

Question Number : 4 Question Id : 9277595484 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Complete the following letter series:
ABC, CEG, EHK, GKO, ,KQW

Options :
1. % UPO
2. % TWZ
3. ¥ INS
4, ¥ NST

Question Number : 4 Question Id : 9277595484 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faferRad &R e o1 Q1

ABC, CEG, EHK, GKO, , KQW
Options :

1. # UPO

2. % TWZ

3. ¥ INS

4. ¥ NST

Question Number : 5 Question Id : 9277595485 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the wrong term in the given series.
19200, 4800, 1200, 400, 75, 18.75

Options :

1. % 75

2. % 1200
3.9 400

4, % 18.75

Question Number : 5 Question Id : 9277595485 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 TS ST | TTAd Ue J1d pI |
19200, 4800, 1200, 400, 75, 18.75

Options :
1. % 75

2. % 1200
3.9 400
4. % 18.75




Question Number : 6 Question Id : 9277595486 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question one statement is given, followed by two conclusions, I and II. You have to consider the statement to be true even if it seems to be
at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statement.
Statement:

T>2D;T=K;Z=K

Conclusions:

I.D>Z

II.Z>D

Options :

1. % Only conclusion I follows

2. % Only conclusion II follows

3. ¢ Either conclusion I or II follow

4. % Both conclusion I and II follow

Question Number : 6 Question Id : 9277595486 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Uy H T HUA fear man g, forass a1e &) e 1 3R 1 R 7TU €1 3MUpt 39 U= &bl I AT ©, Y ot I8 Jra=ad: J1d a2 3 fd
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DY

T>D;T>K;Z=K

I.LD>Z
II.Z>D

Options :

1. % Had (sHY [ 3T HT §
2. % Had BN 11 IR0 Hal §
3.« T el Fsam s 1 37 11 SRR el §
4. % F5HY [ SR 11 THT TR0 & §

Question Number : 7 Question Id : 9277595487 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

There are five friends P, Q, R, S and T. P is heavier than Q. R is as heavy as Q. T is lighter than R. S is lighter than Q but heavier than T. Who is
the lightest friend?

Options :
1.%p
2. % Q
3. %S
4. ¥ T

Question Number : 7 Question Id : 9277595487 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U P, Q, R, SR TRIP, QA HURIBIR, Q AT YR BI T, R A §ehT1 §1 S, Q U Behl & Afh T T HRY B | Y& ol fHF 1 72
Options :

1.%p

2. % Q

3. %S

4. ¥ T

Question Number : 8 Question Id : 9277595488 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most logical course of action for the following scenario.

You are getting late for the exam but you saw a girl being unconscious on the road beside her scooty. You will
Options :

1. ¥ Head towards exam venue as you are getting late.
2. ® Look for others on the road to ask them for help and leave for the exam.
3. % Check for any major wound and sprinkle some water on her face and call an ambulance and then head towards the exam venue.

4. ® Escape from the place as it may lead to some legal trouble of road accident case and you may miss your exam.

Question Number : 8 Question Id : 9277595488 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % T RS B 3R 97 b Ul W B B

2. % YS&h W G Y Aeg AH & forg 7 oiR uhen & fore e s

3. ¢ fordlt 1 1S U19 & 7T S 371 3R S dgX R UTST U {58 3R T &I §ardd 3R e uliel Rid &1 3R 3 e |
4. % I SATE Y HFT ST F1Th ST TSP goedl &b AHA H & BT U 8l Jdbalt § 3R 3T 0T U= I Tohd o |

Question Number : 9 Question Id : 9277595489 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most logical course of action for the following scenario.

\You are playing a cricket match with your friend in your locality. When you hit the ball, it went high and breaks the windowpane of a nearby
house. You would

Options :

1. # Demand your ball back from the house owner.

2. # Say that it was no fault of yours.

3. # Start fighting with the owner of the house to get your ball back.

4. ¥ Apologize to the house owner and contribute to replacing the broken glass.

Question Number : 9 Question Id : 9277595489 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 3Ut T &l TR & HIferds I Irug AR |




2. % Hghl fob IH 3MUPT Bl T el o
3. % 3{UHI Tig 919 UM & T TR o A1 I de-1 = Hedl|
4.« TR & HIfeTeh F WGB! AR SR ¢ U Hid B gga- | ARG ol

Question Number : 10 Question Id : 9277595490 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the missing number in the given series:
15,23, 32,157, , 1537

Options :
1. % 500
2. % 206
3. % 412
4. % 208

Question Number : 10 Question Id : 9277595490 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& 172 SR H I S 1 Be:
15,23, 32, 157, , 1537

Options :
1. % 500
2.9 206
3. % 412
4, % 208

Question Number : 11 Question Id : 9277595491 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Study the following information carefully to answer the given questions:
AYSVU3NL94#2GSESFC*R2Q£6KS

The elements only from N to C are written in the reverse order and other elements are kept unaltered, then which element is right of 14th element
from the right?



Options :
1. * G
2. %2
3. % E
4. ¥ #

Question Number : 11 Question Id : 9277595491 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3u T Ul & IR ¢ & fore Fafafad SHeR! &1 emgde seaa- &y
AYSVU3NL94#2GSESFC*R2QE£G6KS

%ﬂﬁN@CW%Waﬁﬁmﬁmw%sﬁ?mmﬁmﬁaﬁaww%ﬁm@r14aqi%|ﬁ?$aﬁﬁﬁ=rmm%lﬂ?
Options :

. %G

2. % 2

3. % E

4.9 4

Question Number : 12 Question Id : 9277595492 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many pairs of letters are there in the word "BINOCULARS" each of which has as many letters between them as in the English alphabetical
series in both forward and backward directions?

Options :
1. #* One
2. % Two
3. % Three
4. ¥ Four

Question Number : 12 Question Id : 9277595492 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

%;ﬁggCULAM“ﬁG{&Iﬁ%Q@W@H%,WQ Td® & s Ia- ol 3R g foraq o Sl qufTar siaan & om ok Ui g
o

Options :

1. % U

2. % T

3. % diF

4, ¥ IR

Question Number : 13 Question Id : 9277595493 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Read the following statements and answer the question on their basis.
'A + B' means 'A is mother of B'.

'A - B' means 'A is husband of B'.

'A @ B' means 'A is sister of B'.

'A # B' means 'A is son of B'.

Which of the following expression indicates that S is daughter of U?

Options :

I.* U+C@G#S
2. U+C@wS#G
3.* S@G#C+U
4. ¥ S@G#C—U

Question Number : 13 Question Id : 9277595493 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiRad Hu= &1 U 3R 9P MUR TR UY BT IR <
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Options :

I.* U+C@G#S
2. U+C@S#G
3. * S@G#C+U
4. ¥ S@G#C—U

Question Number : 14 Question Id : 9277595494 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

J, 1, L, M, N and P are sitting in a straight line facing north. N sits to the right of P, who is second to the left of L. M sits to the immediate right of
J. There are two persons between I and P. If J sits at the left end of the line, then who sits at the right end of the line?

Options :
1. * L
2.% M
3. % N
4, 9 ]

Question Number : 14 Question Id : 9277595494 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

LLLMNSRPIH WA TR B SR I IRP IS &I N, PH AL A IBTE, SN L F I A G gI M, J H 3lb U A I81 81 1 3R
PP A AT S TG J BR & I BR WR 931 8, I A & T BR WR DI 93182

Options :

1. % L

2.% M

3.% N

4. 91

Question Number : 15 Question Id : 9277595495 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Sum of Age of A, B and C is 10 years more than B and C and 5 years more than A and C. If sum of age of A, B and C is 25 year, then find the



age of C.
Options :

1. % 7 years
2. ¥ 10 years
3. # 8 years
4. % 12 years

Question Number : 15 Question Id : 9277595495 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 799

2.4 10TY

3. % 89y

4. % 1299

Question Number : 16 Question Id : 9277595496 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given answer figures, select the one in which the question figure is hidden/embedded.

Options :



Question Number : 16 Question Id : 9277595496 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A TS IR 3B H A, I APl T Ig B oG Uy 3pfa i afzRd g1



Options :

3. ¢



Question Number : 17 Question Id : 9277595497 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

1. * Image 1
2. % Image 2
3. % Image 3
4. % Image 4

Question Number : 17 Question Id : 9277595497 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu T fRiwedl A @ & te RfYd %  TuE 81 5TlTP, T faeed 3 diF ot aRE Tl 8| 39 fdhed &1 Iu- &Y oY 30 ¥ AT B

Options :

1. % Bfd 1
2. % Bfd2
3. ¢ Bfd 3
4. % Bfd4

Question Number : 18 Question Id : 9277595498 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
If a mirror is placed on the line AB, then which of the answer figure is the correct mirror image of the given figure?

Options :

Question Number : 18 Question Id : 9277595498 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fe U U0 ) T AB TR W 9111 8, SR 31pfa § A &1 @ &) 78 o ) adur ofd 22

Options :

1. =

2.¥



Question Number : 19 Question Id : 9277595499 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following Venn Diagram, the triangle represents people who use Oppo mobile, the circle represents people who use Apple mobile, the
trapezium represents people who use Asus mobile and the rectangle represents people who use Samsung mobile. How many people who use only
Asus mobile?

Options :
1. % 12
2.% 3
3.2
4. % 8

Question Number : 19 Question Id : 9277595499 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % 12
2.%3
3.¢2
4. % 8

Question Number : 20 Question Id : 9277595500 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Three different positions of the same dice are given below. Which symbol is on the face opposite to face showing '@'?

Options :
1. = #
2.0
3.% %
4. % &

Question Number : 20 Question Id : 9277595500 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 8 U &1 i fafte fufaat e & 8 81 '@ <2ifd wae & e fRUd o W HH-a1 s 72



Options :
1. = #
2.0
3.% %
4. % &
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Sub-Section Number : 1
Sub-Section Id : 927759238
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 9277595501 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to MoS Finance, which of the following rank India obtained in Forex Reserve Holder in the World as on 25th June 2021?
Options :

1. ¥ 5th

2. % 6th

3. % 7th

4. % 8th

Question Number : 21 Question Id : 9277595501 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

MoS BT~ & 3R, YR = 25 97 2021 B! fay T B Rerd giess & Fofafad # 9 & a1 I Ui foham

Options :
1. ¢ 54
2. % 601
3. % 79l
4. % gqi

Question Number : 22 Question Id : 9277595502 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What will be the principle aim of the QUAD group?
Options :

1. # To enhance proper utilization of resources

2. % To enhance trade

3. % To enhance regional connectivity



4. ® To enhance industrial output

Question Number : 22 Question Id : 9277595502 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DIS YU T I I£ - TGN

Options :

1. % Gl o Ifad U Dl deH & oy
2. % IR FgMH o fau

3. ¢ &1 Iudh g & fore

4. % AP IaTeH d¢M & fow

Question Number : 23 Question Id : 9277595503 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who is nicknamed Indian Napoleon?
Options :

1. ¥ Akbar

2. % Chandra Gupta Maurya

3. # Chandragupta II

4. ¥ Samudragupta

Question Number : 23 Question Id : 9277595503 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFa YR AUfer & IUATH T ST ST 82
Options :

1. % 3hd¥

2. % T A

3. % I 10

4. ¢ qHL




Question Number : 24 Question Id : 9277595504 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following won Gold medal in the Tokyo Paralympics 2020 by winning the women's 10m Air Rifle Standing SH1 event?
Options :

1. % Anjali Bhagawat

2. # Bhavina Patel

3. % Sumit Antil

4. ¥ Avani Lekhara

Question Number : 24 Question Id : 9277595504 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafea o § feam Sl TRIfifies 2020 H Afgansii &t 10 Hex TaR A% d TS TITH1 (10m Air Rifle Standing SH1) T Sda
Ut Uedh SiidT 87

Options :

1. % 3fSIfer HITad

2. % Y[gArged

3. % giq sifdd

4. ¢ 3fdMH AR

Question Number : 25 Question Id : 9277595505 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
President is :

Options :

1. ¥ The constitutional head of country
2. % The head of council of ministers

3. # Chairperson of the Rajya Sabha

4. % The leader of the Lok Sabha



Question Number : 25 Question Id : 9277595505 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TIE'CI'[%T%:

Options :

1. ¢ S & AP 3feae
2. % HRAURYg & sreme

3. % JogOHT & gUTafd
4. % FHIHT & Al

Question Number : 26 Question Id : 9277595506 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following Schedule of the Constitution, the 'State List' is given?
Options :

1. # 5th

2. % 6th

3. ¥ 7th

4. % 8th

Question Number : 26 Question Id : 9277595506 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ty 31 Fffad 7 Q frg o= §, ou gt i 82
Options :

1. % sdf

2. % 631

3. ¢ 7dt

4. % gdf

Question Number : 27 Question Id : 9277595507 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following trophies are associated with the game of Basketball?
Options :

1. ¥ Basalat Jha Trophy

2. % Begam Rasul Trophy

3. % B.C.Raj Trophy

4. ¥ (G.D.Birla Trophy

Question Number : 27 Question Id : 9277595507 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofafed & 3 oF @ ¢iw! IRecald & ¥ Y Jafdd 82
Options :

1. ¢ §9Td 91 ¢t

2. % ST Y St

3. ® o I Il

4. % of St foge gl

Question Number : 28 Question Id : 9277595508 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Pele' is the professional player of which of the following games?
Options :

1. # Cricket

2. ¥ Football

3. ¥ Boxing

4. ¥ Baseball

Question Number : 28 Question Id : 9277595508 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Oor FafaRed & 9 forg Oa &1 IRiaR feare! 82
Options :

1. ® fhde

2. ¢ Bedid

3. % abamel

4. ® it

Question Number : 29 Question Id : 9277595509 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

From which of the following states, folk dance of 'Bohada' originated?
Options :

1. # Gujarat

2. ¥ Mabharashtra

3. # Rajasthan

4. % Bihar

Question Number : 29 Question Id : 9277595509 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied o ¥ ford 0 U, TIgST & Al T B I 552
Options :

1. % ToRId

2. ¥ HeRTY

3. % SR

4. % fogR

Question Number : 30 Question Id : 9277595510 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ali Akbar Khan was an Indian Hindustani classical musician, known for his virtuosity in playing the




Options :

1. # tambura
2. ¥ sarod
3. % tabla

4. * gshenai

Question Number : 30 Question Id : 9277595510 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3l PR WH Th YR fegeaml e d FiiideR &, forg FoIH & 3% IR o e ST STl B |
Options :

1. * d&RT

2. ¥ Wig

3. % ddcll

4. % B

Question Number : 31 Question Id : 9277595511 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following lines, the Germans retreated in 19177
Options :

1. ¥ Hindenberg Line

2. % Durand Line

3. ¥ Maginot Line

4. % Mannerheim Line

Question Number : 31 Question Id : 9277595511 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiRad 7 9 o= T ¥, 1917 § SH- Ud §e w2

Options :



1. ¢ fggaerf war
2. % UG T

3. % AT Ya@T
4. % BTREISH Wl

Question Number : 32 Question Id : 9277595512 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Where is 'The roof of the world’?
Options :

1. ¥ Central Asia

2. % Eastern Asia

3. ¥ Western Asia

4. % Northern Asia

Question Number : 32 Question Id : 9277595512 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ST Bt B (T TP g Ics) Pl U &2
Options :

1. ¢ H TR

2. % gdf ulRmn

3. % ufgd oltrn

4. % IR URME

Question Number : 33 Question Id : 9277595513 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Where is the headquarter of the World Bank?
Options :

1. ¥ Washington D.C.



2. * New York
3. # Austin

4. % Denver

Question Number : 33 Question Id : 9277595513 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fayy S &1 TReaTeT et fRUT 82
Options :

1. ¢ aiRiTed S,
2. % Yl
3. % 3fRe
4. % 3R

Question Number : 34 Question Id : 9277595514 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following is not a vector quantity?
Options :

1. # Force

2. # Acceleration

3. % Speed

4. % Momentum

Question Number : 34 Question Id : 9277595514 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ol # 3 o I gfew i 761 82
Options :

1. % dd

2. % od’0T



3. ¢ Tfd
4. % T

Question Number : 35 Question Id : 9277595515 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following is the unit of Radiant Flux?
Options :

1. * Joule

2. ¥ Watt

3. ®* Ohm

4. * Tesla

Question Number : 35 Question Id : 9277595515 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fraferfad & § o A fafdh=or veres Bt 3e7S 32
Options :

1. % 9o

2. ¥ dic

3. % 3|

4. % Tl

Question Number : 36 Question Id : 9277595516 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following is the symbol of Silver?
Options :

1. ¥ Ag

2. % Hg

3. % Pb



4. % Sn

Question Number : 36 Question Id : 9277595516 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFrafifed & @ oF a1 9t &1 g 82
Options :

1.¥ Ag

2. % Hg

3. % Pb

4. % Sn

Question Number : 37 Question Id : 9277595517 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following is the molecular formula of water?
Options :

1. ®* HO

2. ¥ H,O

3. % H30

4. % H40

Question Number : 37 Question Id : 9277595517 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiyd & @ &9 91 91d &1 3M1vad I 82
Options :
1. ®* HO
2. ¥ H,0
3. ®* H30
4. % H40



Question Number : 38 Question Id : 9277595518 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When was the WHO (World Health Organisation) founded?
Options :

1. ¥ 1948

2. % 1949

3. % 1950

4. % 1951

Question Number : 38 Question Id : 9277595518 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

WHO (3% Tar=g TT6) &1 RITIHT Hd g3 A2
Options :

1. ¥ 1948

2. % 1949

3. % 1950

4, % 1951

Question Number : 39 Question Id : 9277595519 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who is the author of 'A tale of two cities'?
Options :

1. # Thomas Hardy

2. ® Alexander Solzhenitsyn

3. ¥ John Bunyan

4. ¥ Charles Dickens



Question Number : 39 Question Id : 9277595519 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T T 311 ¢ Ricor & a8® DA g7
Options :

1. % Ty graf

2. % RIS eI

3. % G

4. I fedhd

Question Number : 40 Question Id : 9277595520 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who has written 'The Time Machine'?
Options :

1. ¥ H.G.Wells

2. # Oliver Goldsmith

3. % Victor Hugo

4. # T.S.Eliot

Question Number : 40 Question Id : 9277595520 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fpem ¢ eren il foredt B9

Options :

1. ¥ TS ded

2. % AR MeSHY

3. % fgeex ggm

4. % duguferye



Arithmetic Ability

Group Number : 3

Group Id : 927759179
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No

Arithmetic Ability

Section Id : 927759202
Section Number : 1

Section type : Online
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Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 927759239
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 9277595521 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What will come in the place of question mark(?) in the following question?
32% of 250 + 68% of 600 = ?% of 175 + 369

Options :
1. ® 92
2. % 34



3. ¥ 68
4. %= 98

Question Number : 41 Question Id : 9277595521 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fgferfad gy o uearee [ (2) & QI TR 341 ST
250 DT 32% + 600 PT 68%= 175 PI 2% + 369

Options :

1. ® 92

2. % 34

3. ¥ 68

4. % 98

Question Number : 42 Question Id : 9277595522 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What approximate value will come in the place of question mark(?) in the following question?

199.98% of 54.98 +24.99% of 799.99 = ? + 64.99% of 399.99

Options :
1. ® 20
2. % 30
3. % 40
4.9 50

Question Number : 42 Question Id : 9277595522 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fgferfad uy o usaras g (2) & RIM TR AHT fba1 A4 ST

199.98% of 54.98 +24.99% of 799.99 = ? + 64.99% of 399.99



Options :
1. * 20
2. % 30
3. % 40
4.9 50

Question Number : 43 Question Id : 9277595523 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What will come in the place of question mark(?) in the following question?
10(3/4) + 12(5/8) + 7(1/2) =?/4 + 16

Options :
1. ¥ 595
2. % 60.5
3. % 585
4. % 56.5

Question Number : 43 Question Id : 9277595523 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fgferfad gy o uearee g (2) & RIF IR 31 3T
10(3/4) + 12(5/8) + 7(1/2) = %4 + 16

Options :
1. ¥ 595
2. % 60.5
3. % 58.5
4. % 56.5

Question Number : 44 Question Id : 9277595524 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The H.C.F. 0of 0.84, 0.28 and 0.7 is:



Options :
1. % 14
2.9 0.14
3. % 0.7
4. % 0.07

Question Number : 44 Question Id : 9277595524 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
0.84, 0.28 31K 0.7 T HETH THIAAD &:
Options :

1.* 14

2.¥0.14

3. % 0.7

4. % 0.07

Question Number : 45 Question Id : 9277595525 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the greatest number that will divide 53, 93 and 153 so as to leave the same remainder in each case.
Options :

1. % 25

2. %30

3.% 10

4.9 20

Question Number : 45 Question Id : 9277595525 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T ISI TS J1d B Sl 53, 93 3MR 153 B! fyHiford H3h aife s fRufa & g0 Quwd s
Options :

1. ® 25




2. % 30
3. % 10
4.9 20

Question Number : 46 Question Id : 9277595526 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rajan is older than Samara by 5 years. Five years from now, the respective ratio between Rajan's age and Samara's age will be 7:6. What was
Rajan's age 10 years ago?

Options :

1. ¥ 20 years

2. % 25 years

3. ® 22 years

4. % 23 years

Question Number : 46 Question Id : 9277595526 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o TARTY 5 98 ST ¢ | 316 I e I8 a7e, IS BT 31 3R THRT B 3T & aiid BT SJUTd 7:6 TR | 10 Y Yd I D1 31 1 2
Options :

1. ¢ 20 a4
2. % 259N
3. % 209y
4. % 2334

Question Number : 47 Question Id : 9277595527 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A craft takes twice time in rowing a certain distance upstream than downstream. What is the ratio between the craft's speed of rowing in still
water and speed of stream?

Options :
1. % 1:2



2.% 13
3. % 23
4.9 3:1

Question Number : 47 Question Id : 9277595527 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS I YRT & U FAfYd g B SrUaTg &1 gaT A A B S THT AT 8 | RR o B A 31 I Bt 1 SR 4R B I &%
S DT S{UTd 1 52

Options :

1. % 1:2

2. % 1:3

3.% 23

4.+ 3:1

Question Number : 48 Question Id : 9277595528 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If A 1s 20% elder than B. C is 25% younger than B. D is 40% elder than C. The Difference between the age of eldest and youngest is 9 years.
Find out their average age.

Options :

1. # 18 years
2. ¥ 20 years
3. % 22 years
4. % 24 years

Question Number : 48 Question Id : 9277595528 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
@%B@DO%EST%I C,BY 25% BT 81 D, C ¥ 40% T3T ¢ | ToY §3 3R Ya4 BIC DI 3T & §1d BT 3R 9 TY g1 Iab! 3 31
RIGIEZY

Options :



1. % 189y
2. ¢ 20 T4
3. % 2299
4. % 2494

Question Number : 49 Question Id : 9277595529 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A student multiplied a number by (3/4) instead of (7/3).
What is the percentage error in the calculation?

Options :

1. % 60.75%
2. % 61.75%
3. % 65.75%
4. ¥ 67.85%

Question Number : 49 Question Id : 9277595529 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T BTH A Th AT B (7/3) & SOl (3/4) T 101 |
o H wifard 3 Far g

Options :

1. # 60.75%

2. % 61.75%

3. % 65.75%

4. ¥ 67.85%

Question Number : 50 Question Id : 9277595530 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In an organisation, average salary of all employees is Rs. 6000. The average salary of 7 engineers is Rs. 10000 and the average salary of the rest
employees is Rs. 5000. What is the total number of employees in the organisation?



Options :
1. * 25
2.9 35
3. % 30
4. % 26

Question Number : 50 Question Id : 9277595530 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 13 o, 9 Sl &1 $fid da= 6000 ¥UU & | 7 SRRdTSH o7 3¥d 9 10000 $UT 7 SR ST HHATRAT BT 3Fd dd= 5000
3T g | TTe H HHAIRG! &1 Hof ST o1 82

Options :

1. % 25

2. 35

3. % 30

4.% 26

Question Number : 51 Question Id : 9277595531 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The data from a village is collected regarding the weight of people. The average weight of men in the village is 60 kg and average weight of the
women is 45 kg. If there are 50 more men than women and total population of the village is 300. What is the difference between the total weight
of men and the total weight of women in the village?

Options :

1. ®* 8670 kg
2. % 5675kg
3. ¥ 4875 kg
4. % 4560 kg

Question Number : 51 Question Id : 9277595531 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



ATl o YR o &y H U Tid ¥ 3ffchs T [hT T & | T1d & TIWI T 3d HR 60 kg 3R Algarsii &1 i d YR 45 kg & | Afe ARGarsi A
50 3P T3 § 3R T B! S-S 300 g1 T H T3 o Hof HR 3R Al & Fd HR & &d Bl 3R T 82

Options :

1. % 8670 kg

2. % 5675 kg

3. ¥ 4875 kg

4. % 4560 kg

Question Number : 52 Question Id : 9277595532 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A and B contributes Rs. 5000 and Rs. 2000 respectively in a business. A is a sleeping partner and B gets 10% of the profit for management and
the rest of the profit is divided in proportion of their capitals. If the profit of A is Rs. 900, then what is the share of B?

Options :

1. % Rs. 442
2. % Rs. 440
3. % Rs. 460
4. ¥ Rs. 500

Question Number : 52 Question Id : 9277595532 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A 3R B U 9T H HHT: 5000 STT 3R 2000 TYT BT ANTEH Hd & | A RiSHT AEieR g 3R B &1 Uy & forw oy &7 10% fHaar g
3R Y Y BT ID! Yoit & SUTd B fauTiord fear Srar |1 afe A &1y 900 ¥UT B, A B &1 fewar - 82

Options :

1. # 442U
2. % 440>U¢
3. %® 460 2>UU0
4. % 500U

Question Number : 53 Question Id : 9277595533 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

A vendor bought pencils at 7 for a rupee. How many for a rupee must he sell to gain 40%?
Options :

1. %3

2. % 4

3.5

4. % 6

Question Number : 53 Question Id : 9277595533 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fdchdl = Teb TUTH 7 b HId TR URTR WRIGT 1 40% BT ATH U DR o fol I Teh FUT H fobei s =12
Options :

1. %3

2. % 4

3.¢5

4. % 6

Question Number : 54 Question Id : 9277595534 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A dozen socks of Rs. 70 are available at a discount of 10%. Find out how many socks can be bought for Rs. 21.
Options :

1. %2

2.¥4

3.% 6

4. % 8

Question Number : 54 Question Id : 9277595534 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH 70 TUT & ot HIS, 10% HI Fe R IUAH g | J1d B3 fob fara Aot 21 FUT H WIS O Tl B |




Options :
1. % 2
2.9 4
3.% 6
4. % 8

Question Number : 55 Question Id : 9277595535 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A man took a loan of Rs. 12000 from a bank. Rate of interest offered by the bank was equal to the time period for which on takes the loan. If he
paid Rs. 4320 as interest after x years to clear his loan. Find the time for which he took the loan.

Options :

1. # 5years
2. ¥ 6 years
3. % 6.5 years
4. % 7 years

Question Number : 55 Question Id : 9277595535 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T HfFd - Th §b I 12000 FUT BT BT fordT | Sob GRTURT 1 14 dTci TS &2 39 JHATAY o s_TeR At forges o ssor forar sirar 21
e I x T & TG 3T B HI b & OTT TS o =0 H 4320 $UT BT YA BT UT| 98 THT 1 B o o718 I+ 07 feran
|

Options :

1. % 59§
2. ¢ 64
3. % 6598
4. % 794

Question Number : 56 Question Id : 9277595536 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A square shaped park with area 400 sq. km has a racing track surrounding it. The width of racing track is 4 km. What is the area of racing track?
Options :

1. ¥ 384 sq. km

2. ® 784 sq. km

3. % 284 sq. km

4. % 176 sq. km

Question Number : 56 Question Id : 9277595536 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

400 sq. km 87 d & THR I P IRT 3R Tk IR 7Y g1 IRFT UY Y ASTS 4 km g | IRFT UY T ETHS o1 82
Options :

1. ¥ 384 sq. km

2. % 784 sq. km

3. % 284 sq. km

4. % 176 sq. km

Question Number : 57 Question Id : 9277595537 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Manoj and Nandan working together can do a certain amount of job in 45 days and are paid Rs. 12600 for the whole job. The efficiency ratio of
Manoj and Nandan is 9 : 5. Find the daily wages of Nandan, if they get paid as per their efficiency.

Options :

1. # Rs. 120
2. ¥ Rs. 100
3. % Rs. 105
4. % Rs. 90

Question Number : 57 Question Id : 9277595537 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T1ST 3R <G U W1 HTH HRd gU B BT I8 32T 45 fel & T R Tohdl ¢ 3R I T A1l & AT 12600 FUY 6T YT T




SITAT & | TS TR = B Q& BT U 9 : 5 5 | - Bi ¢ AoIg] 1 By, Tl I8 I1D] G&fdl &b SR YT [T STl g |
Options :

1. % 120 37T

2. ¥ 100 39T

3. % 105 39T

4. % 90307

Question Number : 58 Question Id : 9277595538 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A boat covers 45 km upstream in 5 hours and comes back same distance in 3 hours. Find the speed of the boat in still water.
Options :

1. ¥ 12 km/hr

2. ® 6 km/hr

3. ¥ 3 km/hr

4. # 15 km/hr

Question Number : 58 Question Id : 9277595538 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 19 5 9 T SHEUATE 45 km I9 HR 8 3R 3 9 T YAM g T HR & 9109 317t g | FRR &1 & A71a &t 71f 71 B
Options :

1. ¥ 12 km/hr

2. % 6 km/hr

3. % 3 km/hr

4. % 15 km/hr

Question Number : 59 Question Id : 9277595539 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following table shows the total NRI population, percentage of male NRI adults, and the percentage of female NRI adults of six states in the
year 2020 who came back to India through Vande Bharat's mission of government.



Note: Total NRI population = Number of male NRI adult + Number of female NRI adult + Number of NRI children.
Find the ratio of the number of male NRI adults and female NRI adults together of Uttar Pradesh to the number of male NRI adults and female
NRI adults of Gujarat.

ate MR Popsistion] L | remale 1
adults adults
Himachal Pradesh 60 a0 30
Uttar Pradesh 80 55 35
Bihar 50 45 30
Andhra Pradesh 0 65 20
Kerala 100 a0 10
Gujarat 40 60 20
Options :
1. % 3:4
2. % 43
3.9 94
4. % 4.9

Question Number : 59 Question Id : 9277595539 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafeiad arferest af 2020 & Ha NRI SFERET, TS NRI O] &1 UTARId 3R B8 o4l ! AfGT NRI G0%b! &1 Ufa=rd & g2ifdt g o
WHR & d¢ YR H¥H & H1e9H J YR I199 MU R |

& : $o NRI SHUGT = TY NRI 6 &1 ISAT + AGAT NRI TP B! GAT + NRI T| B G&AT |
IR U & YSY NRI GUBT 3R ARHAT NRI TID! G-I b TRSAT T ORI &b JBY NRI GOHT 3R Hiedl NRI TIRD! bl Ted F ST




NIGERY

w || TS |
P IGEIGE PIGEIGE
fearmww 60 40 30
IO U 80 55 35
o 50 a5 30
ST U= 70 65 20
W 100 30
e 40 60 20
Options :
1. ® 3:4
2. % 4.3
3.9 9:4
4. % 49

Question Number : 60 Question Id : 9277595540 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The graph shows number of laptop users (in thousands) of different company in year 2019 and 2020.
The total number of Acer users in the year 2019 and 2020 together is what percent of the total number of Lenovo users in the year 2019 and 2020



together.

—a—2019 2020
25 -

20 +

15 4 16.5

10 4 o ———

9.5 9.5

A
I

Number of Laptop users (inthousands)
[=]

HP Acer Dell Lenovo Asus

Company

Options :
1. % 75%
2. % 85%
3. ¥ 87.5%
4. % 80%

Question Number : 60 Question Id : 9277595540 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
g U6 9y 2019 3R 2020 H faf¥ HUt & Auery STANTHarst (@Rl #) & TBT &1 guiiar g
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Options :
1. % 75%
2. % 85%
3. ¥ 87.5%
4. % 80%
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Number of Questions : 16
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Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
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Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 9277595541 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

When we got married, / [ have been thinking we maybe had 10 books / each, including novels by Sir Walter Scott.
Options :

1. #

When we got married,

2. ¥ I have been thinking we maybe had 10 books

3. ® each, including novels by Sir Walter Scott.

4. % No Error

Question Number : 61 Question Id : 9277595541 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

When we got married, / I have been thinking we maybe had 10 books / each, including novels by Sir Walter Scott.



Options :

1. %

When we got married,

2. ¥ [ have been thinking we maybe had 10 books
3. ® each, including novels by Sir Walter Scott.

4. % No Error

Question Number : 62 Question Id : 9277595542 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Heavy machines then / pounded and abrasion them to make / the surfaces smooth and uniform.
Options :

1. ¥ Heavy machines then

2. ¥ pounded and abrasion them to make

3. # the surfaces smooth and uniform.

4. ® No Error

Question Number : 62 Question Id : 9277595542 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Heavy machines then / pounded and abrasion them to make / the surfaces smooth and uniform.
Options :

1. ¥ Heavy machines then

2. % pounded and abrasion them to make

3. # the surfaces smooth and uniform.

4. ® No Error



Question Number : 63 Question Id : 9277595543 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

He gave the door a hefty kick (for good amount before turning on his) heel and striding back to his bed.
Options :

1. # for good quantity before turning on his

2. # for good quality before turning on his

3. % for good measure before turning on his

4. # No correction required

Question Number : 63 Question Id : 9277595543 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

He gave the door a hefty kick (for good amount before turning on his) heel and striding back to his bed.
Options :

1. # for good quantity before turning on his

2. # for good quality before turning on his

3. ¥ for good measure before turning on his

4. # No correction required

Question Number : 64 Question Id : 9277595544 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

Haworth is the railway's headquarters, (boasting off a locomotive depot) where visitors can view the steam leviathans under repair or restoration.
Options :



1. ¥ boasting a locomotive depot
2. # boast for a locomotive depot
3. % boasting at a locomotive depot

4. # No correction required

Question Number : 64 Question Id : 9277595544 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

Haworth is the railway's headquarters, (boasting off a locomotive depot) where visitors can view the steam leviathans under repair or restoration.
Options :

1. ¥ boasting a locomotive depot

2. # boast for a locomotive depot

3. % Dboasting at a locomotive depot

4. # No correction required

Question Number : 65 Question Id : 9277595545 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice.

So it would appear that from now on I am going to have to be more tactful and in my meanderings
Options :

1. ¥ diplomatic

2. # obloquy

3. % rebuilt

4. % deceptive

Question Number : 65 Question Id : 9277595545 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Fill in the blank with the most appropriate choice.

So it would appear that from now on I am going to have to be more tactful and in my meanderings
Options :

1. ¥ diplomatic

2. # obloquy

3. % rebuilt

4. # deceptive

Question Number : 66 Question Id : 9277595546 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The sentences below are not complete. There are four options for each question. Choose the best word to complete the sentence.

The interface is appalling, requiring use of the keyboard to do relatively simple tasks.
Options :

1. # amateur

2. % insipid

3. % clumsy

4. ¥ dextrous

Question Number : 66 Question Id : 9277595546 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The sentences below are not complete. There are four options for each question. Choose the best word to complete the sentence.

The interface is appalling, requiring use of the keyboard to do relatively simple tasks.
Options :

1. ¥ amateur

2. % insipid

3. % clumsy

4. ¥ dextrous



Question Number : 67 Question Id : 9277595547 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

The water cycle,

P. biogeochemical cycle that describes

Q. the continuous movement of water on,
R. the hydrological cycle, is

S. also known as the hydrologic cycle or

above and below the surface of the Earth.
Options :

1. ¥ SRPQ

2. % RPQS

3. % PQSR

4. % QSRP

Question Number : 67 Question Id : 9277595547 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

The water cycle,
P. biogeochemical cycle that describes
Q. the continuous movement of water on,

R. the hydrological cycle, is



S. also known as the hydrologic cycle or

above and below the surface of the Earth.
Options :

1. ¥ SRPQ

2. % RPQS

3. % PQSR

4. # QSRP

Question Number : 68 Question Id : 9277595548 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consist of a set of labelled sentences. Out of four options given, select the most logical order of the sentences which form a
paragraph.

Agents of erosion majorly include rainfall; bedrock wear in rivers; coastal erosion by the sea and waves; glacial plucking, abrasion, and scour.

P. They also include areal flooding; wind abrasion; groundwater processes; and mass movement processes in steep landscapes like landslides and
debris flows.

Q. The rates at which such processes act control how fast a surface is eroded.

R. Typically, physical erosion proceeds fastest on steeply sloping surfaces, and rates may also be sensitive to some climatically-controlled
properties.

S. Feedbacks are also possible between rates of erosion and the amount of eroded material that is already carried by, for example, a river or
glacier.

The transport of eroded materials from their original location is followed by deposition, which is arrival and emplacement of material at a new
location.

Options :

1. ¥ PQRS
2. % SPRQ
3. ¥ QSRP
4. % PSRQ



Question Number : 68 Question Id : 9277595548 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consist of a set of labelled sentences. Out of four options given, select the most logical order of the sentences which form a
paragraph.

Agents of erosion majorly include rainfall; bedrock wear in rivers; coastal erosion by the sea and waves; glacial plucking, abrasion, and scour.

P. They also include areal flooding; wind abrasion; groundwater processes; and mass movement processes in steep landscapes like landslides and
debris flows.

Q. The rates at which such processes act control how fast a surface is eroded.

R. Typically, physical erosion proceeds fastest on steeply sloping surfaces, and rates may also be sensitive to some climatically-controlled
properties.

S. Feedbacks are also possible between rates of erosion and the amount of eroded material that is already carried by, for example, a river or
glacier.

The transport of eroded materials from their original location is followed by deposition, which is arrival and emplacement of material at a new
location.

Options :

1. ¥ PQRS
2. % SPRQ
3. % QSRP
4. % PSRQ

Question Number : 69 Question Id : 9277595549 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ RACCOONS

2. % RACOONS

3. % RACCONS

4. % RACAONS



Question Number : 69 Question Id : 9277595549 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ RACCOONS

2. % RACOONS

3. ¥ RACCONS

4. % RACAONS

Question Number : 70 Question Id : 9277595550 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below.

HUMDRUM
Options :
1. %

EXCITING

2. %
FUNDAMENTAL
3.

MUNDANE

4. %

EVENTFUL

Question Number : 70 Question Id : 9277595550 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below.

HUMDRUM



Options :
1. %

EXCITING

2. %
FUNDAMENTAL
3.

MUNDANE

4. %

EVENTFUL

Question Number : 71 Question Id : 9277595551 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below.

BUNCO
Options :

1. #
HARMONY
2.9
TREASON
3. %
TENSION
4, %
BUNKER

Question Number : 71 Question Id : 9277595551 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below.

BUNCO
Options :
1. %



HARMONY
2.¥
TREASON
3. %
TENSION
4. %
BUNKER

Question Number : 72 Question Id : 9277595552 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below.

CHAUVINISM
Options :

1. %

HUMBLE

2. %
JINGOISM

3. %
NARROWNESS
4. &
UNBIASED

Question Number : 72 Question Id : 9277595552 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below.

CHAUVINISM
Options :

1. %

HUMBLE

2. %
JINGOISM



3. %
NARROWNESS
4.
UNBIASED

Question Number : 73 Question Id : 9277595553 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning for the word given below.

Connoisseur

Options :

1. #® A person who is indifferent to the pains and pleasures of life.
2. ¥ A person with expert knowledge or training.

3. # A closed political meeting.

4. ® A temporary police force.

Question Number : 73 Question Id : 9277595553 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning for the word given below.

Connoisseur

Options :

1. #® A person who is indifferent to the pains and pleasures of life.
2. ¥ A person with expert knowledge or training.

3. % A closed political meeting.

4. ® A temporary police force.

Question Number : 74 Question Id : 9277595554 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.



Cost an arm and a leg

Options :

1. # To take risk.

2. % To have met with an accident.
3. ¥ Very expensive.

4. % To be near death.

Question Number : 74 Question Id : 9277595554 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Cost an arm and a leg

Options :

1. # To take risk.

2. % To have met with an accident.
3. ¥ Very expensive.

4. % To be near death.

Question Number : 75 Question Id : 9277595555 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given proverb.

A golden key opens any door.

Options :

1. # Sometimes one requires the master key to open locks.
2. # Work hard to become rich.

3. ¥ Anything can be accomplished with enough money.

4. % To understand someone completely.

Question Number : 75 Question Id : 9277595555 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given proverb.

A golden key opens any door.

Options :

1. # Sometimes one requires the master key to open locks.
2. # Work hard to become rich.

3. % Anything can be accomplished with enough money.

4. % To understand someone completely.

Sub-Section Number : 2
Sub-Section Id : 927759241
Question Shuffling Allowed : Yes

Question Id : 9277595556 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (76 to 80)

A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four
alternatives.

The cosmetic industry describes the industry that manufactures and distributes cosmetic products. These include colour cosmetics, like
foundation and mascara, skincare such as moisturisers and cleansers, haircare such as shampoos, conditioners and hair colours, and toiletries such
as bubble bath and soap. The manufacturing industry is dominated by a small number of multinational corporations that originated in the early
20th century, but the distribution and sale of cosmetics is spread among a wide range of different businesses. The largest cosmetic companies are
Johnson & Johnson, L’Oréal Paris, Gillette, Neutrogena, Nivea and Chanel, Inc. The market volume of the cosmetics industry in Europe and the
United States is about EUR €70b per year, according to a 2005 publication. The worldwide cosmetics and perfume industry currently generates
an estimated annual turnover of US$170 billion (according to Eurostaf — May 2007). Europe is the leading market, representing approximately
€63 billion. Within the United States, the state of California has the largest concentration of beauty establishments in America at 25.5%, followed
by New Jersey at 8.1% of American beauty establishments.

Sub questions

Question Number : 76 Question Id : 9277595557 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the meaning of 'market volume' from the given passage?



Options :

1. # The total profit.

2. ¥ The total volume of transactions over a specific period.
3. # Total income of the companies.

4. ¥ Total number of shares.

Question Number : 77 Question Id : 9277595558 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What do you understand by 'California has the largest concentration of beauty establishments in America'?
Options :

1. #® California has the maximum sale of beauty products.

2. # (California has the highest number of customers.

3. ¥ Largest number of cosmetic companies in America are based in California.

4. ® California has the maximum raw material required therefore the companies are based there.

Question Number : 78 Question Id : 9277595559 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The market volume of the cosmetics industry in Europe and United States is about as per a 2005 publication.

Options :

1. #® €60b per year
2. ¥ €70D per year
3. # €90b per year
4. ® €70m per year

Question Number : 79 Question Id : 9277595560 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following is not one of largest cosmetic company in the world?
Options :

1. # L’Oréal Paris

2. % Chanel



3. % Dolce & Gabbana

4. # Johnson & Johnson

Question Number : 80 Question Id : 9277595561 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the United States which state has the highest concentration of beauty establishments?
Options :

1. # Florida

2. % New Jersey

3. % California

4. % Lowa

Question Id : 9277595556 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (76 to 80)

A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four
alternatives.

The cosmetic industry describes the industry that manufactures and distributes cosmetic products. These include colour cosmetics, like
foundation and mascara, skincare such as moisturisers and cleansers, haircare such as shampoos, conditioners and hair colours, and toiletries such
as bubble bath and soap. The manufacturing industry is dominated by a small number of multinational corporations that originated in the early
20th century, but the distribution and sale of cosmetics is spread among a wide range of different businesses. The largest cosmetic companies are
Johnson & Johnson, L’Or¢éal Paris, Gillette, Neutrogena, Nivea and Chanel, Inc. The market volume of the cosmetics industry in Europe and the
United States is about EUR €70b per year, according to a 2005 publication. The worldwide cosmetics and perfume industry currently generates
an estimated annual turnover of US$170 billion (according to Eurostaf — May 2007). Europe is the leading market, representing approximately
€63 billion. Within the United States, the state of California has the largest concentration of beauty establishments in America at 25.5%, followed
by New Jersey at 8.1% of American beauty establishments.

Sub questions

Question Number : 76 Question Id : 9277595557 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the meaning of 'market volume' from the given passage?
Options :



1. #® The total profit.
2. % The total volume of transactions over a specific period.
3. # Total income of the companies.

4. ¥ Total number of shares.

Question Number : 77 Question Id : 9277595558 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What do you understand by 'California has the largest concentration of beauty establishments in America'?
Options :

1. # California has the maximum sale of beauty products.

2. # (California has the highest number of customers.

3. ¥ Largest number of cosmetic companies in America are based in California.

4. ® California has the maximum raw material required therefore the companies are based there.

Question Number : 78 Question Id : 9277595559 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The market volume of the cosmetics industry in Europe and United States is about as per a 2005 publication.
Options :

1. # €60b per year

2. ¥ €70b per year

3. % €90b per year

4. ® €70m per year

Question Number : 79 Question Id : 9277595560 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following is not one of largest cosmetic company in the world?
Options :

1. # L’Oréal Paris

2. % Chanel

3. ¥ Dolce & Gabbana



4. % Johnson & Johnson

Question Number : 80 Question Id : 9277595561 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the United States which state has the highest concentration of beauty establishments?

Options :

1. % Florida

2. % New Jersey
3. % California

4. % Lowa
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Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 927759242
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 9277595562 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fafafad uy 7, IR e & 3, 39 9wy &1 T &2 &Y fha1 & Ne are I8! fase 8l
foram sroet gt @ wfiar ugara B

Options :

1. # gdapIierem

2. % HgHd

3. « TR

4. % Y

Question Number : 81 Question Id : 9277595562 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FafaRad vy 8, IR fadwedl § 9, 39 fddhed &1 99+ &1 Sl fobal & UG arell el [ddbed 51|
forar 3o = | Tfiar ugara B

Options :

1. % gapIier®

2. % g

3. ¢ IR

4. % Y

Question Number : 82 Question Id : 9277595563 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFufafad sy A, IR el § T, 3 fawed &1 T B Ot 3100 & Y &1 Tal fddbed gl



¢ & {1 STaaTg IArT HidT |
Options :

1. % forarfaviyo

2. ¢ JaYNYD

3. % qOAgEIYD

4. % f3urd

Question Number : 82 Question Id : 9277595563 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad uy A, IR fomeal 7 9, 39 faw ey &1 97 &3 St 39y & Ne &1 Tal fabeu 81|
Y= P o1 I I B B |

Options :

1. % foarfarivo
2. ¢ YYD
3. % qAgEIYD
4. % fqurg

Question Number : 83 Question Id : 9277595564 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FafaRed Uy &, IR fawedl § 9, 39 fadmed &1 98 $< off HIadrad 4311 & el [ddHed ol g |
Options :

1. * firgd

2. % Hgdh

3. ¢ TaMT

4. % qull

Question Number : 83 Question Id : 9277595564 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



foferfed uy H, IR fowedl § 9, 39 faweu o1 Ig9 &8 S HIgdaIs I3 &1 Ja! fadded gl 5|
Options :

1. % [USd

2. % TRH

3. ¢ Tl

4. % ot

Question Number : 84 Question Id : 9277595565 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, TR fowedl § T, 39 fawed &1 999 &3 ol Y sk &1 Ta! [dbed 7
Options :

1. % gghmr

2. ¢ ygfRmEr

3. % yafi

4. % Yl

Question Number : 84 Question Id : 9277595565 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed Uy & aR fawedl 8 9, 39 fadmed &1 98 &1 off g e BT el [dhed g
Options :

1. # gghwl

2. ¢ ygRmEr

3. % yafi

4. % ygal

Question Number : 85 Question Id : 9277595566 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy §, IR eeal 7 9, 39 fowca &1 987 &% &Y feu 7T e & JAMIT Weg &1 fapey 781 B




Options :
1. #® AHdYd
2. % g
3. % gfd
4, ¥ X

Question Number : 85 Question Id : 9277595566 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ol gy o, IR fawed! 7 9, 39 [dded &1 997 &< ol fau 7TY 2reg & T 2eg o1 fawbed 181 5|
Options :

1. % 3{dYd

2. % 7

3. % gfd

4, ¥ I

Question Number : 86 Question Id : 9277595567 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy A, IR el 7 9, 39 fahcu &1 97 &8 ot fAdiA Weg &1 a9 331 faheu g |

ST
Options :
1. % fam
2. % JaRR
3. ¥ dgdl
4. % drafg

Question Number : 86 Question Id : 9277595567 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fFofifed Uy &, IR el 7 9, 39 f9hcd &1 987 & o fadiH Wsg &1 e 331 fabeu g |

ST
Options :
1. % fam
2. % Jd¥
3. ¥ dgdl
4. % qEg

Question Number : 87 Question Id : 9277595568 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferRed gy o, IR fadedl § 9, 39 gl [dhed o1 98- B Sl I1eixil o {o1T Ueb Yeg b1 fdhed |
T R UE S WS BT RIM

Options :

1. % iR

2. ¢ AU

3. % ¢y

4. % Y[

Question Number : 87 Question Id : 9277595568 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frofafed uy 8 ar fawed! § 9, 39 Ue! fawed &1 997 & Sl il & fofe U Xeg &1 fadbed gl
[THT W UE & Ul BT RIM

Options :

1. % dia¥

2. ¢ AU

3.% 4y



4. % R

Question Number : 88 Question Id : 9277595569 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy §, IR eedl 7 9, 39 fahcd o1 987 &% ot feU 7T 9/ & fol u&i & Ve 1 9ad 331 faheu g |
319 Y 4 Fgdlt &) I T B!

Options :

1. ¢ WIfdeds

2. % gufdRd®

3. % Fgdreds

4. % JNYAD

Question Number : 88 Question Id : 9277595569 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FrafaRad Uy &, IR fadwed § 9, 39 fadhed &1 I8 Hx off [T U AT & fo1T Uef & U &1 Jay 351 f[ddhed 5|
319 Y 4 Sgdlt &) I T B!

Options :

1. ¥ Ui

2. % gUldRIIdS®

3. % garas

4. % JWTHIAD

Question Number : 89 Question Id : 9277595570 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy , aR fawedl § 9, 39 fawe &1 999 &3 o Y a1 BT T 33T fadhed g |
Options :

1. % B TS UAP HRAIR HRAHT Thdl &1 Iy g1 gl g

2. % Yo YRAGE HRAT Tehdl &1 IR1 e srsT R |




3. ¢ JAP HRAAR HRAT Thdl &1 Ja9 F7 gt g
4. % A% YRR HRATY Tehdl &l T sl el g

Question Number : 89 Question Id : 9277595570 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad vy o, TR fawet § 9, 39 fawey &1 T L S Y 91 T Ja 3737 fadheu 3|
Options :

1. % RIS YIS YRAAR HRIT TehdT &1 Jad a1 Rl g

2. % TA%H HRAARI YR Uehdl &1 TN Gad 981 RI0Te! g

3. ¢ Ud® YRR YR Tl &1 Jad g1 RiuTe! 3|

4. % TP YRAGRI YR Thdl &1 T g1 Fyurgt g

Question Number : 90 Question Id : 9277595571 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFufoRad Uy |, IR fadedl 7 ¥, 39 fdwed &1 999 3 1 ol d1a0 He &l f[ddbed gl
Jg Iy U1 il 394 HHt Rierad 8] &1

Options :

1. * foy 9

2. % XA AR

3.« ggad i

4. # SZIAIAD dIH

Question Number : 90 Question Id : 9277595571 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiRad Uy §, TR fadeul § 9, 39 fdb ey &1 70 & Sl gl a1 He &1 fdched Bl |
98 TGP YT 3T I HHt Rrebrad g1 o1 |

Options :

1. ® foy are




2. % I AT
3. ¢ JYId aIH
4. % TRAMID AT

Question Number : 91 Question Id : 9277595572 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy ¥, OR fowedl & T, 39 fawey &1 999 &3 Sl foU T8 arag & fore gy & Y &1 9ad o1 fased ]
fear AeR ha M Y

Options :

1. % g

2. % Hagrd

3. ¢ Ty

4. % Fopard

Question Number : 91 Question Id : 9277595572 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy &, aR fowedl § 9, 39 faswey &1 999 &3 Sl foU TU arag & fore gy & Y o1 9o o1 fased ]
fearmeR g M g

Options :

1. % Fyrared

2. % Hagrd

3. ¢ gy

4. % Hopard

Question Number : 92 Question Id : 9277595573 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad uy O, aR fawed! & 1, 39 fdeed &1 99 o< il fav1 g god a1 &1 Fal fadheu gl

Options :



1. % T F G-I dF Ve 8d § sAfadardes, Sfaarde, HIgard|
2. ¢ T H G o e B §:- AfGdardds, Sfarads, Hgardd|
3. % Y1 & GBI <IF UG §Id .- Afaadrad sidarad Hadrad|
4. % 1 & A dH g 81d § AfeqdradD, Siadrdd, Hiadrad

Question Number : 92 Question Id : 9277595573 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiRed us o, TR fasedl § 9, I fddhed &1 I B Sl fav g god a1 &1 gl fddbed gl
Options :

1. % I & G- dF NS Bid & Afaddrad, Sfaarde, HIdarad|

2. ¢ U & - A 9 Bid 5. Afddardds, Sfaarde, Hiaare|

3. % TP - I US 814 &:- Afadarde odardd Hadrdd)|

4. % TS G- dH Ve 8Id § AfGaarde, Sfaardds, Higardd

Question Number : 93 Question Id : 9277595574 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofafed gy o, IR fawed! & 9, 39 [daed &1 99+ &< off faU T4 didifad &1 98t 31 ara faswed g
EINICEEEI R

Options :

1. % ie IOI 1 J&

2. % 3O RS ferg A &

3. ¢ TRER YE Y&y g1

4. % MUY e YIS BIdl &

Question Number : 93 Question Id : 9277595574 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad uy A, IR foweal 7 9, 39 faweu &1 97 &% ot foT U Aeifad o1 gt 3 arerr fapea g |
Alelt G BT 1Y -




Options :

1. % fie IOg &1 J&

2. % 3O I8 fearg 9 &
3. ¢ TRER 9§ Ia¢ g1
4. % 3O e HIT-H gial 8

Question Number : 94 Question Id : 9277595575 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FrafeRad gy &, IR fawedl & 9, 39 faebed o1 907 B St 1 7T GeTor 1 9t 31 Tt faded &
dd¥e ¢C UsHl -

Options :

1. ¢ F8 SR T 3{THH HIAT

2. % dd-l

3. % I 3G STel

4. % PO QI TG

Question Number : 94 Question Id : 9277595575 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad oy 7, aR fawdl & 9, 39 faoed o1 707 &3 5 1 71 JeToR T el 3 arett faebed &
ddE ¢c UsHl -

Options :

1. ¢ 3 SR Y THHUT HRAT

2. % d9-l

3. % I 3G STel

4. % $B I AGA

Question Number : 95 Question Id : 9277595576 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Fofefad uy ¥, IR fAded! § 9, 39 [dbed o1 99 Y O <t 713 GoTaX &1 e 31 arell fashed 3|
3O 91 Hg AR g ST -

Options :

1. % QRYH BT

2. % WG

3. % g Bl

4. ¢ ARSI g

Question Number : 95 Question Id : 9277595576 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed oy & aR fawedl § 9, 39 faded &1 9g9 &3 ol &1 718 GeTaX &1 Ja! o ara fadwed ]
3T T HE AP T8 O -

Options :

1. % URYHA B

Sub-Section Number : 2
Sub-Section Id : 927759243
Question Shuffling Allowed : Yes

Question Id : 9277595577 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (96 to 100)

9= fou M3 e & 91 5 Uy o T B 1 39 iR Y T¢ 3R IR fadedl & I Udd Uy &1 Jarad SR A |

¢} U IS g, g | ASTed, Ad, U, 1 YU Wfd 0 g1 9OR & Gt 4 4a 0 9 T 81 & | 94t 79 & 91y J&raeR Rard g

SR bl faiy ool a1 Sirfy o1 78T 1 it UTforat & web 1o Wia gl 81 SHb e 1 11 HI Ueb 81 5 | G- - b1 Hia 1Y 4 I Toh

ST 8 1 T 3R guf, a=ryer SR Hfa-Rarst qur 7 3 9t Sodt ol 81 3R 3 A I1 $9T & 11 § 3R 39 A §9[a1 § 9f a1

HSTEd | & IQ AHAdT I S91-ad J 987 4H I1 Holgd guvl $is ot | 98 a1 Rrardr ], fama Tat | o ot Tehdl &1 2de ¢ |

Sub questions




Question Number : 96 Question Id : 9277595578 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TG o IR SN R 01, I 3R Jf-Rarst qur 9 39 92ft &1 fraa! I Sl 78 82
Options :

|, % WY a%] &l

2. % 3 I hdl Dl

3. % HFAgR Bl

4. ¢ SR a3 B

Question Number : 97 Question Id : 9277595579 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
o Bl forge ST 87

Options :

1% SR

2. % Tpid

3. ¥ g

4. % 9

Question Number : 98 Question Id : 9277595580 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
o B fHeT e Hel T 87
Options :

1. ¢ Uohdl

2. % gl oilad

3. % 3{Achdl

4. % TebTeh] Sila

Question Number : 99 Question Id : 9277595581 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
T ¥ $IH-I1 S &1 faay Wss 87
Options :

1. % H™

2. ¥ gaH

3. % IR

4. % ik

Question Number : 100 Question Id : 9277595582 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A\ N of

T 3fwSC BT Hlg Jugad Hd-

Options :

1. % fexmar gay gs1 9+

2. % 3MHd Iy 98T YH

3. % UHIH U oy gaf 9

4. ¢ AT 9 g1 4H

Question Id : 9277595577 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
:No

Question Numbers : (96 to 100)

3 fau T iy & 918 5 Uy RRU TR 1 59 T Bl U¢ 3R TR el # J Udie U &l FaiaH SR I |

¢ T S Weg ¢ | AoTed, Ad, U, I1 IUeH Hifd ©0 ¢ | IR & Gt 46 90 ¥ 9 T &1 & | 9 709 & 91 9&aeR Rard g

$oR Tt Ry ol a1 Srrfy o1 7T 1 Gt ol & web TToT W Biell 8 1 S¥ah Yo &1 11+ U 61 8| Y- 37 T HId a1 1 I U

SIRT B | ST SR gof, a=ryr ofR Jfa-Rarst qur 9 3 it So avq &1 SR = T I1 S &1 ST § SR S8 A §911 § o a1

ASIEd $l| &9 I8 AHad I1 SUTad O 987 Y 31 Aoled quvl $is ol | I8 e Rardr 8, SieTd gt | & oY Tl &1 Uide® g |

Sub questions

Question Number : 96 Question Id : 9277595578 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3TC P STER 3Mpia 3R quf, Jeryer 3R Hfe-Rarst ot 91 37 T3t b1 it T 1 i 22



Options :

1. % WM a%] Bl

2. % 3{Id HTaGHd Pl
3. % IR &I

4. ¢ SR I3 Bl

Question Number : 97 Question Id : 9277595579 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
o Bl forge ST 82

Options :

1% SR

2. % Uopfd

3. ¥ g

4. % 9

Question Number : 98 Question Id : 9277595580 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ot B! fHHeT Tdd Hel T 57
Options :

1. ¢ Uohdl

2. % gl il

3. % 3{Achdl

4. % TbTeh! Sila

Question Number : 99 Question Id : 9277595581 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
S0 q HH-I1 S &1 A Ueg 82
Options :

1. % HI




2. ¢ gaH
3. % $R
4. % Hfad

Question Number : 100 Question Id : 9277595582 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3 RGPl Dlg IUGad oe-
Options :

1. % f&arar gey ga7 9

2. % 3B gy g1 YH

3. % UHIHIUT oy g7 9

4. ¢ AT T8 9T 4H

Disciplinel

Group Number : 6

Group Id : 927759182

Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Disciplinel

Section Id : 927759205

Section Number : 1

Section type : Online



Mandatory or Optional : Mandatory

Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 927759244
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 9277595583 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The second derivative of the graph tells you the of the graph at a point.
Options :

1. ® convexity

2. % concavity

3. ® parabolic properties

4. % graphing

Question Number : 101 Question Id : 9277595583 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I &1 GIRT g SHTID| T foig TR UTH T A&
Options :

1. # 3dddl

2. % 3qdddl

3. % TRAAR™D 0T

4. % thT

Question Number : 102 Question Id : 9277595584 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The number of solutions of 2cosx = [sinx| when x €[0, 47|
Options :

1. %3

2.9 4

3.%5

4. % 6

Question Number : 102 Question Id : 9277595584 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
2cosx = |sinx| & Bl DI I-AT 91d x €[0, 4n]
Options :

1. %3

2.9 4

3.%5

4. % 6

Question Number : 103 Question Id : 9277595585 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Graph of the curve y = (x-1)(x-2) decreases when
Options :

1. ¥ x<3/2

2. % x>3/2

3. % x<1/2

4. % x=2

Question Number : 103 Question Id : 9277595585 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
b y = (x-1)(x-2) BT U6 °cdl g old
Options :



1. ¥ x <3/2
2. % x>3/2
3. % x<1/2
4. % x=2

Question Number : 104 Question Id : 9277595586 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The graph of the equation r = Sin40 is
Options :

1. # Four leaved Rose

2. # Five leaved Rose

3. ¥ Eight leaved Rose

4. % Ten leaved Rose

Question Number : 104 Question Id : 9277595586 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
JHIHRT 1 = sind0 BT UTH %

Options :

1. % TR dleg sl

2. % I diles S

3. ¥ 2 diteg

4. % ¢ diog el

Question Number : 105 Question Id : 9277595587 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The graph of r = a(1 +Sin0) is -
Options :

1. * Symmetric about x - axis



2. ¥ Symmetric about y - axis
3. % Symmetric about y = x

4. ¥ Not Symmetric

Question Number : 105 Question Id : 9277595587 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
r = a(1 +Sin0) BT ITH § -

Options :

1. % x - 3f&l b IR H FHHT

2. ¢ y-31& b IR T AT

3. % y=x b IR H A

4. % Oy el

Question Number : 106 Question Id : 9277595588 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The area of the surface obtained by rotating the circle r = 2Sinf about y - axis is -
Options :

1.%2xn

2. % 3n

3. 41

4. ¥ 5¢

Question Number : 106 Question Id : 9277595588 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

q r = 2Sind B y-3Hef & TRA: IO TR YT J§ HT &6 o -
Options :

1. % 2x

2. % 3



3.¥ 41
4. % 5q

Question Number : 107 Question Id : 9277595589 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Formula for arc length is -

Options :

1. ® [N(1+x)dx

2. ¢ [ WI+[F(x)]2dx

3. % [ \[f(x)]dx

4. % [b[f(x)]dx

Question Number : 107 Question Id : 9277595589 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Y I TS BT -

Options :

1. ® [N(1+x)dx

2. [ 14 (x)]Pdx

3. % [V[f(x)]dx

4. % [b[f(x)]dx

Question Number : 108 Question Id : 9277595590 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If derivative of <df/dx, df/dy> = <3+2xy, x*>-3y? > then value of f(x, y) is:
Options :

1. # 2x +x%y -y?

2. % 2x + X2y ty?

3. ® 3x + x?y+y?

4. ¥ 3x + x2y-y?



Question Number : 108 Question Id : 9277595590 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e <df/dx, dfidy> = <3+2xy, x2-3y2 > BT dPHAS § ol f(x, y) PTHM @ -
Options :

1. # 2x + x%y -y?

2. % 2x + x2yty?

3. % 3x + x%yty?

4. ¥ 3x + x’y-y?

Question Number : 109 Question Id : 9277595591 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The angle between the curves <t, 1-t, 3 + t>> and <3 -t, t-2, t*> is:

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. cosf= (1/N3)

2. cosb= (2/3)

3. cosf= 3

4. cosb= (V3/2)

Question Number : 109 Question Id : 9277595591 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

deh <t, 1-t, 3 +t>> 3R <3 -t, t-2, t2>$EﬂﬂW?ﬁUT%-
Note: For this question, discrepancy is found in question/answer. So,this
question 1s 1gnored for all candidates.



Options :

1. cosf= (1/N3)
2. cosb= (2/3)
3. cos0= 3

4. cos® = (\3/2)

Question Number : 110 Question Id : 9277595592 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

z=(7+ 2i)n + (7 - 21)n, n € N then which of the following option is correct.
Options :

1. #® Z is Real only for odd n

2. % Z is Real only for even n

3. % Zis Purely imaginary

4. ¥ 7 is Real for all Naturals

Question Number : 110 Question Id : 9277595592 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

z= (7+ 2i)n + (7 - 2i)n, n e N ) FAGfRad & @ &1 91 faded Tl 8|
Options :

1. % 7 %ad [d¥H n & foU aRafas §

2. % 7 Hdd 99 n & fo¢ arafde ©

3. % 7 fox[g U Y TS §

4.« 7 9 U1 & forg arafas @

Question Number : 111 Question Id : 9277595593 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The least positive integer m for which (V3 - i) is real and positive.

Note: For this question, discrepancy is found in question/answer. So,this



question 1s 1gnored for all candidates.
Options :

I.M=6

2.M=1

3.M=2

4. M=4

Question Number : 111 Question Id : 9277595593 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T BIeT Y-S Ul m o falg (V3 - i)» aRdfdd 3R ¢-Te S ¢ |
Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

I.M=6

2.M=1

3.M=2

4. M=4

Question Number : 112 Question Id : 9277595594 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If a, b eN and aRb if gcd(a, b) #1 then which of the following is true.
Options :

1. # R is Reflexive

2. ¥ R is not Reflexive

3. # R is an equivalence relation

4. % R is not symmetric relation

Question Number : 112 Question Id : 9277595594 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

i a, b eN 3R aRb TS ged(a, b) #1 8 Al FARIRKT A I S AT I B
Options :

1. % R Noifdga 8

2. ¢ R Noifdqa 8t 8
3. % R U® Joddl 9eY §
4. % R gAAT Idy T8 §

Question Number : 113 Question Id : 9277595595 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If A and B are two sets such that ANB = m then number of two sided relation is-

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :
l.2m

2. 2mxm
3. m?
4. m

Question Number : 113 Question Id : 9277595595 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g A 3R B T &I 94 € fh ANB = m A1 < Uellg Tae o1 T 5-
Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :
l.2m



Question Number : 114 Question Id : 9277595596 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The set of real number R is uncountable i.e., there is no bijection No—R , is -
Options :

1. % Mean value theorem

2. # QGreen's theorem

3. % Cantor's theorem

4. % continuity theorem

Question Number : 114 Question Id : 9277595596 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

JRAfAD AT R HT T 3R § 3fUfd, B3 fG3idyaum No—R T8l &, T8 &-
Options :

1. % HIGAM YHY

2. % P BT UHY

3. ¥ SR U

4. % A gHg

Question Number : 115 Question Id : 9277595597 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Number of zeros in, 1000! Is

Options :

1. % 30

2.9 249

3. % 248



4. % 25

Question Number : 115 Question Id : 9277595597 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
1000! ¥ YT &1 AT R

Options :

1. % 30

2.9 249

3. % 248

4. % 25

Question Number : 116 Question Id : 9277595598 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If 7' is divided by 8 then remainder is
Options :

1.¥ 1

2.% 2

3.%3

4. % 4

Question Number : 116 Question Id : 9277595598 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gie 710 Y 8 F FHTRSTT fopa STaT & Y Avhar ©

Options :
1.¥ 1
2.% 2
3.%3
4. % 4



Question Number : 117 Question Id
Orientation : Vertical

: 9277595599 Question Type

Correct Marks : 1 Wrong Marks : 0.25
If A is a square matrix then which of the following is false -

Options :
1. # |AT| =A]
2. ® |A0‘ = ‘A|0

3. F |A‘1|T: |AT|-1
4. ¥ (AB)'=A"'B™!

Question Number : 117 Question Id
Orientation : Vertical

: 9277595599 Question Type

Correct Marks : 1 Wrong Marks : 0.25

g A T aFf TR § I (FieRad § I DI 91 A § -

Options :
1. % |AT|=|A]
2. % A9 = |Af°

3. E |A-1|T — |AT|-1
4. ¢ (AB)'=A"'B™

Question Number : 118 Question 1d
Orientation : Vertical

: 9277595600 Question Type

Correct Marks : 1 Wrong Marks : 0.25
If AB = A and BA = B then what can be said about A and B.

Options :

1. ¥ Both are Idempotent

2. % Both are not Idempotent
3. % Only A is Idempotent
4. % Only B is Idempotent

Question Number : 118 Question Id

: 9277595600 Question Type

: MCQ Option Shuffling : Yes Is Question Mandatory : No Option

: MCQ Option Shuffling : Yes Is Question Mandatory : No Option

: MCQ Option Shuffling : Yes Is Question Mandatory : No Option

: MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

g AB=A 3R BA =B 8 a6 A 3R B % IR H 1 T ol Gbdl g |
Options :

1. ¢ Sl ggmIee §

2. % g geWIcc T8l §

3. % Hdd A SSHICC @

4. ® PHId B gSHIcC &

Question Number : 119 Question Id : 9277595601 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If A and B is square real matrix then which of the following is correct.
Options :

1. ® A-ATis always symmetric

2. % A+ATis always skew-symmetric

3. # AB is always symmetric

4. ¥ AB is not necessarily symmetric

Question Number : 119 Question Id : 9277595601 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe A 3R B 37 aRafds 3iegg § o) Fgfafad # 9 &9 1 98t 5|
Options :

1. % A-AT GHRI U BIdT1 &

2. % A+AT BURN foRs-THT (Wpa-RMACH) §id ©

3. % AB GURN YA BId 8

4. AB 3a%I% U Y JHH T8l &

Question Number : 120 Question Id : 9277595602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

If S= {f]f: N—{0,1}} then cardinality of S is -
Options :

1. # Finite

2. % Countable

3. * Xo

4, & Qo=

Question Number : 120 Question Id : 9277595602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e S = {ff: N—{0,1}} I S BT UMD & -

Options :
1. % oRfAd
2. % TUER”
3. % Xo
4, & Qxo=c

Discipline2
Group Number : 7
Group Id : 927759183
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20

Is this Group for Examiner? : No



Discipline2

Section Id : 927759206
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 927759245
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 9277595603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is false

Options :

1. % Set of natural number N is countable

2. % Set of natural number N is Uncountable
3. % Set of Real number R is uncountable

4. #® Close interval [0, 1] is uncountable

Question Number : 121 Question Id : 9277595603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafafea d 9 & s g

Options :

1. % TTghd WA N HT T I §

2. ¢ UTghd T-AT N &1 T 3R §

3. % gRAde G- R T Y 3T §
4. % §¢ R [0, 1] 3T &




Question Number : 122 Question Id : 9277595604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If A be the set containing 6 elements and B be the set containing 2 elements. Then total number of functions from A to B is
Options :

1. % 16

2. % 60

3. ¥ 64

4. % 46

Question Number : 122 Question Id : 9277595604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g A, 6 TferHe aTe W™ g1 3R B, 2 UferHc aTal Sd 811 Al A ¥ B 0@ B &) $d 96 §
Options :

1. % 16

2. % 60

3.9 64

4. % 46

Question Number : 123 Question Id : 9277595605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If A=4, B= 3, then the number of onto relations from A to B is:

Note: For this question, discrepancy 1s found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. 35

2.12

3.36



4.81

Question Number : 123 Question Id : 9277595605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A A=4, B=3, dl A ¥ B TR g R &1 HeA 5-
Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1.35

2.12

3.36

4.81

Question Number : 124 Question Id : 9277595606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If < a,> = <2 ™.n*> then the limit of < a,> as n— oo is:
Options :

1.¥0

2. % 1

3. % o

4. %

Question Number : 124 Question Id : 9277595606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i <ay> =<2 "n*> ar <a,> as n— o© CARsIEIl % -
Options :

1.¥0



2. % 1
3. % o0

4. %

Question Number : 125 Question Id : 9277595607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Let < a,> be sequence defined as ai> 0, a,+1 = { a,+(2/ a,)}/2, n>1 then lim(a,) as n—o0 is?
Options :

1. ¥ \2

2. %43

3.% 2

4, % 3

Question Number : 125 Question Id : 9277595607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A d & <a> Wﬁ ar> 0 o &Y H GRYTT [T 91T, a,+1 = { ant(2/ an)}/2, n>1 ar lim(a,) as n—o0 27
Options :

1. ¥ 2

2. %13

3.% 2

4. % 3

Question Number : 126 Question Id : 9277595608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Let<a,>=1{-2,-3,-1,0,1,2,1,0,1,0 ....} then which is true about < a,>?
Options :

1. ¥ Limit point of A is '0' and 'l'

2. % ('is only limit point of A.

3. % 1'is only limit point of A.



4. % is convergent.

Question Number : 126 Question Id : 9277595608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A b <a>={-2,-3,-1,0,1,2,1,0,1,0 ...} A <a,> P IR T S 91 I 87
Options :

1. ABT UG 0 3R '1' 8

2. % (', A T had 4T fog g

3. % ' A BT had g g 5

4. % SRR

Question Number : 127 Question Id : 9277595609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The series > (-1)".n, (where neN)
Options :

1. # convergent

2. # finite

3. % not convergent

4. # is bounded

Question Number : 127 Question Id : 9277595609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SRAQAT Y'(-1).n, (STBT neN)
Options :

1. % AR

2. % gRfd

3. ¢ SR Tl
4. % INSG 3



Question Number : 128 Question Id : 9277595610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Given series S,= ) sin(nm/3) then which of the following is correct.
Options :

1. # limSup(Sn) =

2. ¥ liminf(Sn) = -00

3. % (Sn) is convergent

4. % (Sn) is not convergent

Question Number : 128 Question Id : 9277595610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&1 718 YT S,= Ssin(n/3) A FRRIRGT & § S AT TR B
Options :

1. # limSup(Sn) =0

2. # liminf(Sn) = -o0

3. % (Sn) SRR G

4. (Sn) ARG §

Question Number : 129 Question Id : 9277595611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If )" a, is convergent series of positive terms then ) a,/(1+a,) is:
Options :

1. ¥ Convergent

2. # Divergent

3. * Sum is not finite

4. % None of these above



Question Number : 129 Question Id : 9277595611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

G Y a, TP Y-TED UG B} SHTUARTT 4/ & Al Ya,/(1+a,) © -
Options :

1. ¢ AR

2. % fdeeH

3. % O uRfEd e R

4. % IRIGd H Y BIg a1

Question Number : 130 Question Id : 9277595612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Given functions f(x)=sin x, g(x)=cos x, h(x)= sin2x then The Wronskian of given equation is-
Options :

1. # The Wronskian of given equation is sin(2x)

2. # The Wronskian of given equation is identically zero.

3. % The Wronskian of given equation is 3sin(2x)

4. ® The Wronskian of given equation is 3cos(2x)

Question Number : 130 Question Id : 9277595612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau T wa f(x)=sin x, g(x)=cos x, h(x)= sin2x dr QU T qHiHR &1 EIRIESRE] %—
Options :

1. % foU Y gHieRUr HT THRHTH sin(2x) §

2. % QU T TR0 1 G- T =0 4 A G

3. ¢ U U Tfter0T &1 PARBTA 3sin(2x) B

4. % faU Y YA &1 FHARBTT 3cos(2x) B

Question Number : 131 Question Id : 9277595613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Any equation contains n-orbitary constants then the order of differential equation derived from it is -
Options :

1.¥n

2. % n-1

3.% 2

4. ® n+l

Question Number : 131 Question Id : 9277595613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fat +ff gitezur 7 n-wefia Fudie gid § O ST9 UTd 3fgdhd GHIHRUl BT hH § -
Options :

1.¥n

2. % n-1

3.% 2

4. % nt+l

Question Number : 132 Question Id : 9277595614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Given IVP y'=2Vly, y (1) = 0 which one is correct in a neighbourhood of 0 ?
Options :

1. #* It has unique solution.

2. % It has no solution.

3. % Solution exist but not uniquely

4. * None of these.

Question Number : 132 Question Id : 9277595614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



@ T IVP y'= 2y, y (1) = 0, 0 & THIT T S IT W1 52
Options :

1. # 3B T EA B

2. % Y BI5 69 T8l 5

3. ¢ B HINE © Afd Ay = 3 =t

4. % STH Y DI 81|

Question Number : 133 Question Id : 9277595615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Determine yo such that the solution of the differential equation. y'-y = 1- e, y(0)=yo, has a finite limit as x —o0
Options :

1. #® yo=1/2

2. ¥ yo=-1/2

3. % yo=0

4. % yo=2

Question Number : 133 Question Id : 9277595615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

yogﬂWﬁﬂfﬁﬁﬁﬁ?Wﬂtﬁwy—yZ 1- e’X,y(O)Zyo,éﬁEaﬁ@ﬁlﬁ?ﬂﬂTXﬁoo%
Options :

1. #® yo=1/2

2. ¥ yo=-1/2

3. % yo=0

4. % yo=2

Question Number : 134 Question Id : 9277595616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If the rate of growth is proportional to the amount x of the substance present and if dx/dt = kx then x is equal to (with C1 constant)
Options :



1. % Clel
2.¥ Cl ekt

3. % Cl g
4.% Cl e

Question Number : 134 Question Id : 9277595616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

¢ gfa 1 ax Ac[g Uerd &1 A6 x & FHTAT § 3R IS dx/dt = kx € @ x 9 & SRR g (C1 Fadis & 1)
Options :

1. % CleM

2.9 Cl e

3. % Cl e

4, % C] Xt

Question Number : 135 Question Id : 9277595617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The solution of the differential equation y" + 4y = 0 Subject to y(0) =1, y'(0) =2 is
Options :

1. # sin(2x )+ 1

2. % cos (2x) + 2x

3. ¥ sin(2x) + cos(2x)

4. % sin(2x)-cos(2x)

Question Number : 135 Question Id : 9277595617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3AHA THIDBRT y" + 4y = 0 BT 8, y(0) = 1, y'(0) =2 F 3 g
Options :

1. #® sin(2x )+ 1



2. % cos (2x) +2x
3. ¥ sin(2x) + cos(2x)
4. # sin(2x)-cos(2x)

Question Number : 136 Question Id : 9277595618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If y1 & y2 are two linearly independent solutions of second order differential equation then which is correct.
Options :

L% W(yi,y2)=0

2.9 W (y1,y2) #0

3. % W (y1,y2)>0, for all x

4. % W (y1, y2) <0, for all x

Question Number : 136 Question Id : 9277595618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

iy, & y. fedia HIfe fadd THIGIU & g ¥RAHd: W= 8d & al S I Tal g
Options :

L% W(yi,y2)=0

2.9 W (y1,y2) #0

3.8 W (yi,y,) >0, 94 x & fam

4. % W (y1,y2) <0, 94 x & forg

Question Number : 137 Question Id : 9277595619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

All real solutions of the differential equation y"+2ay'+by = cos(x) (Where a & b are real constants) are periodic if -
Options :

l.% a=landb=0

2.% a=0andb=1

3.% a=1landb#0



4. % a=0andb#1

Question Number : 137 Question Id : 9277595619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3BT THIBRUT y'+2ay"+by = cos(x) (BT a & b A AP §) B TH IRAfd® g 3Mad ¢ fe -
Options :

1.%a=13Rb=0

2. % =0 3R b=1

3.¥a=13Rb#0

4.% a=03Rb+#1

Question Number : 138 Question Id : 9277595620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A system by a set of variables and a set of equations that establish relationships between the variables is-
Options :

1. % Algebra

2. ¥ Mathematical model

3. % Theory of real functions

4. % Multivariate calculus

Question Number : 138 Question Id : 9277595620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TRI & G GR1 TP FUMTel! 3R =R & o Heiy R B aTet GHIBRON BT TP TE &-
Options :

1. % SSHTford

2. ¢ TfOrdIg Alsd

3. % IR o o Rigid

4. % dgdR hdld



Question Number : 139 Question Id : 9277595621 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many types of mathematical models are there-
Options :

1. %1

2.2

3.%3

4. % 4

Question Number : 139 Question Id : 9277595621 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T ATed o foha UHR BId 6-
Options :

1. % 1

2.¥2

3.%3

4. % 4

Question Number : 140 Question Id : 9277595622 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If lim(x-x/x) then what can be said about limit as x —0?

Note: For this question, discrepancy 1s found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. Limit exist

2. Limit does not exist

3. Left hand limit is 0



4. Right hand limit is 2

Question Number : 140 Question Id : 9277595622 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T lim(x-x/x) AT limit as x —oo P TR T FT BT S Tl 82

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. limit AIG §

2. limit AIS[G T8 §

3. AU BTY B limit 0§

4. T BT B Limit 2 §

Discipline3

Group Number : 8

Group Id : 927759184

Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Discipline3

Section Id : 927759207

Section Number : 1



Section type : Online

Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 927759246
Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 9277595623 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
lim{Sin(ax)/Sin(bx)} (a# 0, b #0) is
Options :

1. ¥ a/b

2. % b/a

3. % ab

4. % Does not exist

Question Number : 141 Question Id : 9277595623 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
lim{Sin(ax)/Sin(bx)} (a # 0, b # 0) %
Options :

1. ¥ a/b

2. % bla

3. % ab

4. % UG T8l g

Question Number : 142 Question Id : 9277595624 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

The correct value of lim (1-Cos x)/x as x —0 is
Options :

1. # Does not exist

2. % \2

3. % 112

4. 90

Question Number : 142 Question Id : 9277595624 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
lim (1-Cos x)/x as x —0 Wﬂﬁrﬂq%
Options :

1. % Hiolg el gl

2. %2

3. % 112

4.0

Question Number : 143 Question Id : 9277595625 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Letf: R - {1} — R be defined as f(x) = Sin(x). Then which is true
Options :

1. # fis continuous at x = 1

2. % fis not continuous at x = 1

3. #* fis not continuous at x = 0

4. % fis not continuous in its domain.

Question Number : 143 Question Id : 9277595625 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AAAfB £ R- {1} = R P (x) = sin(x) P &Y H IRHIRT fFarSTar g1 A e T Ia g



Options :

% fx=1TRIdd g

2. ¥ £ x= 1 RIIqd TS 8

3. % £ x =0 R Ydd Tel &

4. % £ 309 YHTG&T H Iad gl 8|

Question Number : 144 Question Id : 9277595626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Let f: R—R defined by f(x) = x°-1, if xe Q, and f(x)=1-x5, if x € Qthen which is true about f(x).
Options :

1. # f(x) is continuous for all R

2. # f(x) is continuous only at point x=1

3. # f(x) is continuous only at point x= -1

4. ¥ {(x) is continuous at x=1, -1 only.

Question Number : 144 Question Id : 9277595626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AA T P £ RoR, f(x) = x*-1 GRTARHING B, Tf xe Q, 3R fix)=1-x¢, T x € Q<A fix) F IR H S AT I 3|
Options :

1. % fx) I R F W Idd §

2. % f(x) Had g x=1 R Idd &

3. % f(x) Ppad g x=-1 RIAd 8

4. ¢ f(x) Pad x=1, -1 RIdd g

Question Number : 145 Question Id : 9277595627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If f(x) and g(x) defined as { f(x) =1, if x € Q, f(x)=-1, if xe Q¢ & { g(x) =-1, if xe Q and g(x)=1, if x € Q¢} then which is false.
Options :



1. # fis not continuous
2. # g isnot continuous
3. % fog is not continuous

4. # fog and gof both are continuous

Question Number : 145 Question Id : 9277595627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e f(x) 3R g(x) B { f(x) =1 B = H gRUIT forar T 8, M x € Q, fi(x)=-1, T xe Q9 & {g(x) = -1, TE xe Q 3R g(x)=1, A x e Q2 A
7 3 g |

Options :

1. ® £qd el §

2. ® gwqﬁ%

3. Vfogﬂﬂﬂﬁ%

4, % fog\’rﬁ?gofa:ﬁﬂﬂﬂ%

Question Number : 146 Question Id : 9277595628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Let S be the subset of real number R. If f is differentiable on S and g is not differentiable on S. Then which is true.
Options :

1. # f+g must be differentiable.

2. # f-g must be differentiable.

3. % f.g must be differentiable (Where f(x)# 0, for all xe S)

4. ¥ f+g and f-g can not be differentiable

Question Number : 146 Question Id : 9277595628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AF o {3 S, IRafde AT R &1 ST g1 TS £, S TR SAHA g 3R g, S W faHa-1g gl g1 <l DI I 9 g

Options :



1. ® fig MAHAT gIHT AU

2. % f.g GBI g AU

3. % f.o AHA-N BT AMGT (ST8T f(x)# 0, THY xe S & Q)
4.¥f+g3‘ﬁ?f-g31m:ﬂ'qﬁﬁm%

Question Number : 147 Question Id : 9277595629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The function f define by f(x) = {x*+ 3x +a, if x < 1} and f(x)= {bx + 2, if x > 1} is differentiable for all x. Then which is true.

Options :

l.*a=50b=3
2. % a#3,b#5
3.9a=3b=5

4. % a=3,b=0

Question Number : 147 Question Id : 9277595629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f(x) = {x2+ 3x +a, if x < 1} 3R f(x)= {bx + 2, if x > 1} GRT ARG o £ Gt x & T srapa-g g1 Al P AT IT & |
Options :

I.% a=5b=3

2. % a#3,b#5

3.9a=3,b=5

4. % a=3,b=0

Question Number : 148 Question Id : 9277595630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Algebraic structures in which addition and multiplication are defined and have similar properties to those operation is study of -
Options :

1. ¥ ring theory



2. * calculus
3. ®* mensuration

4. # Riemann's integral

Question Number : 148 Question Id : 9277595630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SorTTOrT TS R Site 3R o o1 afuTiRd fovar mar B ok 31 dfshanait & forw a0 qor €, 9 1 ez © -
Options :

1. ¢ g Rygid

2. % DA

3. % HUAq

4. % {0 A

Question Number : 149 Question Id : 9277595631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Expand f(x) = x* - 5x3 + 5x* + x+ 2 in powers of (x - 2) then the coefficient of (x-2)* is
Options :

1.¥ 1

2. % -1

3.% 2

4, % 2

Question Number : 149 Question Id : 9277595631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

(x - Z)ﬁﬂ'l?ﬁﬁf(x) =x*-5x3 + 5x2 + x+ ZWﬁWﬁ, ?‘h(x-Z)“WW%
Options :

1.9 1

2. % -]



3. %)
4. % 2

Question Number : 150 Question Id : 9277595632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Taylor series expansion of f(x) about a = 1 for the following function f(x) = x>+ 2x + 1 is
Options :

1. % 4+6(x-1)+4(x-1)*+4 (x-1)°

2. % 4+ 4(x-1)+H(x-1)?

3. % 4+6(x-1)+6((x-12+4(x-1)

4. % 6+4 (x-1)+4 (x-1)*+4 (x-1)°

Question Number : 150 Question Id : 9277595632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeRad e fix) = x2 + 2x + 1 B W a = 1 F IR H f(x) BT R A0t fowR B
Options :

1. %® 4+6(x-1)+4(x-1)2+4 (x-1)

2. ¥ 4+ 4(x-1)+(x-1)

3. % 4+ 6(x-1)+6(x-1+4 (x-1)

4. % 6+4 (x-1)+4 (x-1)*+4 (x-1)

Question Number : 151 Question Id : 9277595633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&l TR & Had £ BT TH gt ﬁg\#f [x,y.f(x,y)] PTIH==Y % ST8T (x,y) g %2-
Options :

1. % x B UHIE

2. ¥ £ BT YUTaE

3. % y I UYEaa



4, % xsﬁ?ywuln‘q’&ﬁ

Question Number : 151 Question Id : 9277595633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The graph of a function f of two variables is the set of all points [x,y,f(x,y)] where (X,y) is in the :-
Options :

1. ¥ domain of x

2. ¥ domain of f

3. # domain of y

4. ® domain of x and y

Question Number : 152 Question Id : 9277595634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If f: R2—R given by f(x, y)= 3x* - 4x* y + y? for (X, y)e R then which is true.
Options :

1. % (0, 0) is point of maximum.

2. % Point (0, 0) is point of local minimum.

3. ¥ Point (0, 0) is neither point of maximum nor point of minimum.

4. ® Neighbourhood of point (0, 0) gives f(x, y) always positive.

Question Number : 152 Question Id : 9277595634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Zlﬁf:R2—>R\_Yﬁ(x,y)ERagﬁfo(x,y)=3X4-4x2y+y2§RTﬁ'qTTI'CIT%,?hﬁ:fﬂTW%I
Options :

1. % (0, 0) HgTH &1 fdg &

2. % fdig (0, 0) R gAdqH 1 fig B

3. ¢ {85 (0, 0) T W 3HfAHaH &1 fig g IR A gAdH F1 g 7

4. % g (0, 0) BT I f(x, y) THAT YTHD ST g |



Question Number : 153 Question Id : 9277595635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If f(x, y) =x3 +y* - 3x - 12y + 40 then which is true.
Options :

1. # (0, 0) is critical point.

2. % (1, 2) is local maxima point.

3. % (-1, -2) is local minima point.

4. ¥ (-1,2) and (1, -2) are saddle points.

Question Number : 153 Question Id : 9277595635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Zlﬁf(x,y)zx3+y3-3x-12y+40?ﬁ®qmwgl
Options :

1. % (0, 0) Bifae g B

2. % (1,2) Y Iy g B

3. % (-1, -2) R gAaH f§g B

4.9 (-1,2) 3R (1, -2) IS Ul B

Question Number : 154 Question Id : 9277595636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The area of cardioloide r =a (1 - cos0) is
Options :

1. ¥ 3a’n/2

2. % a’n

3. % a’n/2

4. % 5a%1/2

Question Number : 154 Question Id : 9277595636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
aﬂ%\’rﬁ%@rza(l -cose)WW%
Options :

1. ¥ 3a’n/2

2. % a’n

3. % alm/2

4. % Sa’n/2

Question Number : 155 Question Id : 9277595637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Volume of the region enclosed by the paraboloid (x-1)*+y?*= z and the plane 2x+z =2 is
Options :

1. * /4

2. % 7/3

3.9 7/2

4. % 1

Question Number : 155 Question Id : 9277595637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RAARAD (x-1)>+y>= z 3R THIA 2x+z = 2 4 R &7 BT 3= 8
Options :

1. #® /4

2. % 1/3

3.¥ /2

4. % 7

Question Number : 156 Question Id : 9277595638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The theorem which allows us to translate difficult line integrals into more simple double integral is:-
Options :

1. ¥ Green's theorem

2. # stoke's theorem

3. # cantor's theorem

4. % mean value theorem

Question Number : 156 Question Id : 9277595638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

98 THY Sl 86 SieH S THIR ! &1 3% TRd fgd JrTh e § 9aaq & 3gHd 4l §, 98 8: -
Options :

1. ¢ W ST

2. % WP THT

3. % HRYAY

4. % Qg yHg

Question Number : 157 Question Id : 9277595639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Value of the integral [x?dx-+(x+y?)dy. Where C is closed curve given y =0, y = x and y?> = 2 - x in the first quadrant, oriented counter clockwise.
Options :

1. #® 6/7

2.¥7/6

3. % 1/6

4. % 17/5

Question Number : 157 Question Id : 9277595639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

THIH T Jx2dx-+(x+y?)dy BT HF T8 C Tgad Iquf Ay = 0, y = x 3R y> = 2 - x gRI {&A1 A1 8¢ 9% &, S aad 3+ g |

Options :



1. % 6/7
2.9 7/6
3. % 1/6
4. % 7/5

Question Number : 158 Question Id : 9277595640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The law which enables an integral taken around a closed curve to be replaced by one taken over any surface bounded by that curve is:-
Options :

1. # Gauss's law

2. ¥ stoke's law

3. % divergence law

4. % closure law

Question Number : 158 Question Id : 9277595640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
a's'?mrwﬁwai‘dawaﬁﬁ@Tmmwﬁwwﬁmwﬁwwﬁﬁwwmqﬁwﬁﬁwﬁﬁﬂwaﬂm%
de &: -

Options :

1. % 39 &1 AgH

2. ¥ Wi a0

3. % 3O fgH

4. % gagA fgm

Question Number : 159 Question Id : 9277595641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Gauss's theorem enables an integral taken over a to be replaced by one taken over the surface bounding that volume and vice versa.
Options :



1. # area

2. # surface area
3. % volume

4. # height

Question Number : 159 Question Id : 9277595641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

guﬂq IR U T4 U GHIG A 1 3T 3Id B UREg B arall Ide WR e U § ufawnfid e # & 99d1 8 3iR
il

Options :

1. % &

2. % Uy &A%d
3. ¢ 3Id-

4. % TS

Question Number : 160 Question Id : 9277595642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Consider the function f: [0, 1] —R define by f(1/2) = 1 and f(x) = 0 for all x € [0, 1]-{1/2} then which is true.
Options :

1. ¥ fis integrable

2. # fis not integrable

3. % Lower integral of fis non - zero.

4. % [ 1f(x)dx £0

Question Number : 160 Question Id : 9277595642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Bad R AR &Y £ [0, 1] >R NI x € [0, 1]-11/2) F TATH(1/2) = 1 3R fix) = 0 gRITRUIVA B, A B I I B

Options :



1. ¢ fgATHTHIT §
2. % [UEIHA e §

3. % £ Faa 9 YRR S 6|

4. % [if(x)dx #0
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Question Number : 161 Question Id : 9277595643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If f(x) = 1 if xe Q and f(x) = 0 if x € Q°then
Options :

1. # fis unbounded

2. % fis not integrable over any [a, b]

3. # fis integrable over [a, b]

4. # None of these

Question Number : 161 Question Id : 9277595643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e f(x) = 1 e xe Q 3R f(x) = 0 TR x e Qe
Options :

1. % fIORaEG®

2. ¢ 158 1t [, b] R GHIBOT TET §

3. % f[a, b] P SR JHGTT ©

4. % S0 Y Pl A1

Question Number : 162 Question Id : 9277595644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Let f: [0, 1] —R such that f(x) = {1/n, if x = 1/n, and f(x)= 0, otherwise} then which is true.
Options :

1. ¥ fis integrable

2. # fis not integrable

3. % [f(x)dx # 0

4. % [if(x)dx =1

Question Number : 162 Question Id : 9277595644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



AT b £ [0, 1] >R FTTE 8 B f(x) = {1/n, TR x = 1/n, 3R f(x)= 0, TUT A S I &
Options :

1. ¢ (AT §

2. % FHHTHT TEl &

3. % [f(x)dx £ 0

4. % [f(x)dx =1

Question Number : 163 Question Id : 9277595645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The value of integral e dx. is, ( where 0 is lower limit and oo is upper limit of integration)
Options :

1. %2

2. % 2

3.¢¥1

4, ¥ o0

Question Number : 163 Question Id : 9277595645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

THTHT Jexdx. BTHAM &, (STaT 0 el Fa1 8 3R o THIG AT Bt HUT T )
Options :

1. %2

2. % 2

3.¢ 1

4. % o0

Question Number : 164 Question Id : 9277595646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Let gu(y) = {ny'™/(1+y), if 0 <y < 1, ga(y)=0, if y = 1} then the value of lim 2:(y) dy as n—oo is (where 0 is lower limit and 1 is upper limit of
integration)



Options :
1. % 1/4
2.9 1/2
3.% 1/3
4. % 12

Question Number : 164 Question Id : 9277595646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ao P grg) — (ny"/(1+y), TG 0y < 1, gu(y)=0, T y = 11 Al lim[g.(y) dy as n—oo BT HM § (STet 0 el Fiar g 3R 1 gHIHa B
RENRE

Options :
1. % 1/4
2.9 1/2
3.% 1/3
4. % -1/2

Question Number : 165 Question Id : 9277595647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Consider the sequence {f,} of functions defined by f,(x) = x* for 0 < x <1 then which is true
Options :

1. # {fi(x)} is pointwise convergent as well as uniformly convergent.

2. % {fy(x)} is pointwise convergent but not uniformly convergent.

3. % {fn(x)} is not pointwise convergent.

4. % {fn(x)} is uniformly convergent.

Question Number : 165 Question Id : 9277595647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

0 <x <1 & fAIT £,(x) = x» GRTIRUIIT B & IHH (f,) W TR R, AP AT II §

Options :




1. % (f,(x)! [OgaR AR 8 & WY-1Y TAH 0 ¥ SR g
2. ¢ {f,(x)} figaR SRR g Afe THH w0 ¥ R 761 ]

3. % (fn(x)} fagar S Tt 51

4. % (fn(x)) THM U Y AR B

Question Number : 166 Question Id : 9277595648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Let {f.} be the sequence of function on (0, ) defined by f,(x)= nx/(1+n*x?) then which is true
Options :

1. # {fn(x)} is not pointwise convergent

2. ¥ {f,(x)} is pointwise convergent but not uniformly convergent.

3. ® {f\(x)} is uniformly convergent

4. % None of these above.

Question Number : 166 Question Id : 9277595648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AM T B £,(x)= nx/(1+n2x2) GRTURHIT (0,00) TR BT BT 3IHH {f,} & O P T T &
Options :

1 % (fn(x)) figaR e 7ei &

2. ¢ {f,(x)} [SgaR MR € afte T =0 ¥ SR 981 ]

3. % (f,(x)) THH ¥U J IR

4. % IWad A DI ol

Question Number : 167 Question Id : 9277595649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Consider the sequence {f,} of functions defined on R by f.(x) = {Sin(nx)}/n then which is true
Options :

1. ® The derivative of f'1(x) is pointwise convergent



2. % The derivative of f',(x) is not pointwise convergent
3. % The derivative of f'y(x) is uniformly convergent

4. # can not say

Question Number : 167 Question Id : 9277595649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R W f,(x) = {Sin(nx)}/n GRT ARHINT Ba! & IHH {f,} RITAR B, A DT TA 8
Options :

1. % f(x) BT 3fdPhas fagar AR &

2. ¥ f,(x) BT ATHAS fagaR AR 761 §

3. % f(x) BT IHAS JHH FU I IR §

4. % g1 ®Hg Ihd

Question Number : 168 Question Id : 9277595650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Radius of convergence of power series ) (-1)*"'nx?2
Options :

1. % o

2.%0

3.¢ 1

4. % 2

Question Number : 168 Question Id : 9277595650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

°Td SRS 3(-1 ) x> & SRR B B
Options :

1. ®

2.%0



3.¢¥1
4, %2

Question Number : 169 Question Id : 9277595651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A bounded function f on [a,b] said to be Riemann integrable if:-
Options :

1. % L(H)=0

2. % U((H)-0

3. ¥ L(H=U(D)

4. % L(H)=1

Question Number : 169 Question Id : 9277595651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

[a, b] TR U UREG BT $I JAH THIGA Hgl o1dl § aTa: -
Options :

1. ® L(f)=0

2. ® U(H)-0

3. Y L(H=U(H)

4. % L(f)=1

Question Number : 170 Question Id : 9277595652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A function that defines a concept of distance between any two members of set which are usually called points is:-
Options :

1. ¥ metric space

2. % determinant

3. % aset

4. ¥ open set



Question Number : 170 Question Id : 9277595652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP B ol Y=g & [h] ol Yo & st g3l @ SaURUM oI IR FHar & O SR R foig 81 Sar g, 98 8: -
Options :

1. ¢ i Iy

2. % Rig

3. % UH 9g=d

4. % Gl (3N TY=d

Question Number : 171 Question Id : 9277595653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Let (X, d) be a metric space, and let A € X. Then which is false

Options :

1. # the interior of A is the union of all open subsets of X contained in A

2. % the closure of A is the intersection of all closed subsets of X which contain A:
3. # The interior of A, Int(A), is the greatest open subset of X contained in A

4. ¥ The interior of A, Int(A), is the smallest open subset of X contained in A

Question Number : 171 Question Id : 9277595653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A % (X, d) TP Afch TP 5, SIRA c X 31 A D A 3T §
Options :

1. % A I 3aR® UIT A § Figd X & 9t o Suag=a &1 e §

2. % A HIIHOA X & T §g Iuag=y &1 Ufdwsed § ford A 2fid :
3. % A, BT TARD HUFT, Int(A), A B iR X FT I8 §371 Gl IUqH= §
4. A, BT MTARD HIT Int(A), A H AT X BT T4 Bl GaT SUTH=I §




Question Number : 172 Question Id : 9277595654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A metric space has a notion of distance , while a topological space only has a notion of :-
Options :

1. # openness

2. ¥ closeness

3. % distance

4. % Space

Question Number : 172 Question Id : 9277595654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U Afew Tty o g &) yRoM Bi B, STafe U Sraraiored iy § hdd U YRUM Bl §: -
Options :

1. % gcllu-

2. ¢ Reped

3. %

4. % Gy

Question Number : 173 Question Id : 9277595655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If S=[0, 1] and T=[0, 2] then which is true

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. min{supS, supT}=4

2. min{supS, supT}=0

3. sup(SNT)#min {supS, supT}

4. inf(SNT)=min{supS, supT}



Question Number : 173 Question Id : 9277595655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe s=[0, 1] 3R T=[0, 2] A BT I I &
Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. min{supS, supT}=4

2. min{supS, supT}=0

3. sup(SNT)#min{supS, supT}

4. inf(SNT)=min{supS, supT}

Question Number : 174 Question Id : 9277595656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Let S be an infinite subset of R such that SNQ= ¢. which of the following statement is true
Options :

1. ® S must have a limit point which belongs to Q

2. % S must have a limit point which belongs to R\Q

3. # limit point of R\S is finite

4. % R\S must have a limit point which belongs to S.

Question Number : 174 Question Id : 9277595656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AF T s, R BT IS 3Fd IUGH=A 8, 39 a8 [ SNQ=¢ | iR i ¥ e W HyT 9§
Options :

1. % S PTUH AT fdg g1 AT SH Q BT B
2. ¥ S H1UH AT feig BHT AU S R\Q BT Bl
3. % R\S &1 T foig uRfa 8



4. R\S &1 Ueb AT feig gHT BT Sl S DT T

Question Number : 175 Question Id : 9277595657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Let (X, d) and (Y, d) be two metric spaces, and f: X — Y . Then which is true
Options :

1. ¥ fis a continuous function iff the pre-image of open sets is always open
2. ® fis a continuous function iff the pre-image of open sets is always closed
3. # fis a continuous function iff the pre-image of closed sets is always open
4. ® None of these is true

Question Number : 175 Question Id : 9277595657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT B (X, d) 3R (Y, ) ST ARG IAFE, iR f: X > Y | A DA M I §
Options :

1. ¢ £U% qad Bad g iff Gal (30 =] &1 Jd-Sid gHRI Jait 784! &
2. % £UH dd Bad g iff Jal (3MT) T3] b Jd-Sid AR 8¢ I8! &
3. % U qdd o ¢ iff 96 (FAes) Tl &1 Jd-3fd gH0 Gl W8l 8
4. % AR TP N IT e

Question Number : 176 Question Id : 9277595658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

To verify that (s,d) is a metric space we should first check that if d(x,y)=0 then:-
Options :

1. % x=0

2. ¥ x=y

3. % y=0

4. % y=_1



Question Number : 176 Question Id : 9277595658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g IATUd HA & o8 fh (s,d) Teh Afees Ty g, 8 Ugd U8 SIra-T I1feT fb afe d(x,y)=0 -
Options :

1. % x=0

2.9 x=y

3. % y=0

4, % y=-1

Question Number : 177 Question Id : 9277595659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Let S and T are two bounded sets then which is false
Options :

1. # sup{x+y; xeS, y €T}= supS+supT

2. % inf{xty; xeS, y €T}= infS+infT

3. ¥ sup{x-y; xeS, y €T}= supS-supT

4. # inf{x-y; xeS, y €T}= infS-supT

Question Number : 177 Question Id : 9277595659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AAT DS 3R T & IRTS = § dl DI AT 39 §
Options :

1. # sup{x+y; xeS, y €T }= supS+supT
2. % inf{x+y; xeS, y €T}= infS+infT
3. % sup{x-y; xeS, y €T}= supS-supT
4. ® inf{x-y; xeS, y €T}= infS-supT

Question Number : 178 Question Id : 9277595660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A metric space is compact if every open cover of x has:-
Options :

1. # subgroup

2. # nonempty set

3. % empty set

4. ¥ finite subcover

Question Number : 178 Question Id : 9277595660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Options :

1. #* 3UdHe

2. % 3o IH=

3. % Rad 9g=

4. ¢ IR IubR

Question Number : 179 Question Id : 9277595661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is one of the principal topological properties that are used to distinguish topological spaces.
Options :
1. # compactness
2. ¥ connectedness
3. # closeness

4. % openness

Question Number : 179 Question Id : 9277595661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



TG St d 0T H J U & oyt Suai ciaaiired Iy § e B4 & e fear S g
Options :
1. % YT
2.« Ggaddl
3. % b
4, % Jarad

Question Number : 180 Question Id : 9277595662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A group isomorphism from a group to itself is:-
Options :

1. ¥ group automorphism

2. % homomorphism

3. % Abelian

4. % closure

Question Number : 180 Question Id : 9277595662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T IHg ¥ W & foQ U THg SMeuniithH 6: -

Options :

1. ¢ g Sl
2. % gAY

3. % Taferr

4. % HHUA
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Question Number : 181 Question Id : 9277595663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Number of homomorphism from Z;—Zs is

Note: For this question, discrepancy 1s found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1.4

2.2



3.1
4.8

Question Number : 181 Question Id : 9277595663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Z:—Zs Y GHANGH S 9= 5
Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1.4

2.2

3.1

4.8

Question Number : 182 Question Id : 9277595664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The external direct product of additive group of integer Z with itself is
Options :

1. * Cyclic group

2. % Not cyclic group

3. # Abelian as well as cyclic group

4. % Cyclic but not abelian

Question Number : 182 Question Id : 9277595664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T & 1Y quifes Z & TN THE &1 a1 T8 oG §
Options :

1. % ThIU TG




2. ¥ I HUE ol
3. % JferEA iR 1Y & T g g
4. % TeH1g il dferad el

Question Number : 183 Question Id : 9277595665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The external direct product of two cyclic group is
Options :

1. # Always cyclic group

2. % Cyclic as well as abelian

3. % Need not be cyclic group

4. % must be cyclic group of finite order

Question Number : 183 Question Id : 9277595665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& I G PT STe] e O §
Options :

1. % AR IHIT g

2. % THIY 3R 1Y B Sfalferad

3. ¢ DI THE B B AaLIH 1o &
4. % ORI oHH o1 b1 JHg gIHT1 A1gY

Question Number : 184 Question Id : 9277595666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Let G be a infinite cyclic group then which is true
Options :

1. ® G is isomorphic to (Zs, +)

2. ¥ G is isomorphic to (Z, +)



3. # G is isomorphic to (Za, +)
4. ¥ G may not be isomorphic to (Z, +)

Question Number : 184 Question Id : 9277595666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AP G Fd TP a T e AP AT Ia §
Options :

1. % G, (Zs, +) P foIQ MsTHIthe &

2.¥ G, (Z, +) & fag sgemifthed o

3. % G, (Zs, +) D fOTT SMSTHIS §

4. % G (z,+) & foru segwithe 78 g bdr g

Question Number : 185 Question Id : 9277595667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Let P be a prime number. Let G be the group of all 2x2 matrices over Zp with determinant 1 under matrix multiplication. Then the order of G is

Note: For this question, discrepancy 1s found in question/answer. So,this

question is 1gnored for all candidates.
Options :
L. p(p*+1)(p-1)*

2.p*(p-1)
3.p°

4. p’(p-1)+p

Question Number : 185 Question Id : 9277595667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A b P U 31U =1 8 | A < b G Tt 2x2 31! &1 THE & Sl Zp TR AR 1 & 1Y 3G OH & SR g1 A G FIHA§
Note: For this question, discrepancy is found in question/answer. So,this




question 1s 1gnored for all candidates.
Options :

L p(p+D(p-1)?

2. p*(p-1)

3.p°

4. p*(p-D+p

Question Number : 186 Question Id : 9277595668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Number of one-one homomorphism from Zio—Zs is

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1.5

2.4

3.3

4.8

Question Number : 186 Question Id : 9277595668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Z1—Zs Y SIS & T 3
Note: For this question, discrepancy is found in question/answer. So,this

question is 1gnored for all candidates.
Options :

1.5

2.4

3.3



4.8

Question Number : 187 Question Id : 9277595669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Let G be non abelian group of order p* (where p is prime) then which is false
Options :

1. # O(Z(G))=p

2. % Number of conjugate classes of cardinality p are p>-1

3. # Number of conjugate classes of cardinality one are p

4. ¥ O(Z(G)#p

Question Number : 187 Question Id : 9277595669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT 6 G HH p* (VT p U §) BT IR SHSfergd THE 7, A S A1 37 §
Options :

1. % O(Z(G))=p

2. % UMD p &b GG G &1 9T p>-1 §

3. % TUMIH & G T bl SN TH § p

4. ¥ O(Z(G)#£p

Question Number : 188 Question Id : 9277595670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Let G be a group of order p.q.r, where p<q<r being primes then which is false
Options :

1. % G is not simple

2. % gylow r-subgroup is normal in G

3. % G has a normal subgroup of order qr.

4. ¥ 1f g/(r-1) then sylow g-subgroup is normal in G



Question Number : 188 Question Id : 9277595670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A & {6 G BH p.q.r BT UD THE ©, 8T p<q<r 3HT & Tl DI 1 3T &
Options :

. % GIRABI 8

2. % WA -IUGHE G H 9§

3. % G HIHH qr BT AHRI SUTHE 8|

4. ¢ TS g/(r-1) AT AA q-SUTHE G H HI §

Question Number : 189 Question Id : 9277595671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Let G be group of order 21 then which is correct
Options :

1. ¥ If G is abelian then G is cyclic

2. ® If G is abelian then G need not be cyclic

3. # G is always cyclic

4. ® can not say

Question Number : 189 Question Id : 9277595671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AAdfP GHHI 2 FTIg e Al S AT e §
Options :

1. ¢ fe G Ieferaedl G I g

2. % e G MSfer 8 A G B TP 811 B 3MTIRIHT Tal §
3. % GEURT ISP

4. % g1 &g oHd

Question Number : 190 Question Id : 9277595672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Every holomorphic function is :-
Options :

1. # complex

2. % complex vector space

3. % analytic

4. % commutative

Question Number : 190 Question Id : 9277595672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

WWW% -

Options :

1. % iy

2. % ity giex 9y
3. ¢ aRAY®

4. % fafrrares
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Question Number : 191 Question Id : 9277595673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which are the three components of educational process?
Options :

1. # Students, Friends and Education

2. # Friends, Teacher and Subject

3. ¥ Teacher, Students and Education

4. #¥ Activities , Study and Teacher

Question Number : 191 Question Id : 9277595673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Qe ufehan F dF ged A T2
Options :

1. % B, i ok fRran

2. % {1, e R fawy

3. ¥ TRiefep, O 3R fRaf

4. % TATITRAT, srema iR e



Question Number : 192 Question Id : 9277595674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the slogan of naturalism?
Options :

1. ¥ Follow Nature

2. # Follow rules

3. # Follow resources

4. % Follow science

Question Number : 192 Question Id : 9277595674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad # 9 &1 91 Udidare &1 aRT 82
Options :

1. ¢ U id BT U DRl

2. % T9GHI BT UTe BT

3. % GHIY] BT U BT

4. % Ta9 D7 U AT

Question Number : 193 Question Id : 9277595675 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is a technique by which the teacher gets the learners to give information rather than giving it to them.
Options :
1. ¢ Elicitation
2. # Display questions
3. % Referential questions

4. % Pomodoro



Question Number : 193 Question Id : 9277595675 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TH T daia © S gR1 e Ranfial o1 STHaRT ¢ & 99l 36 IM&R] o & ot Hgd g
Options :
1. ¢ ITRUIGT (Tferfesm)
2. % UY YGRIq Bl
3. % dgiuy
4. % QHAISRI

Question Number : 194 Question Id : 9277595676 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Peace education involves which of the following.
Options :

1. # Values derived from the Indian Constitution
2. ¥ Self-reflection and listening to the inner voice
3. # Language usages in diverse social households

4. ® collaborative skills and respect for human rights

Question Number : 194 Question Id : 9277595676 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

wrifer fRren & fafaRad & 9 o i g

Options :

1. % YRaw oy 9 U ged

2. ¢ TH-TRTAH 3R R BT 3f1aT BT G

3. % fafde FrATRSTs URGRT H HINT BT SUIRT

4. % AMa BRI & g Fgarht diRret Sk T =

Question Number : 195 Question Id : 9277595677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Most families coming under poor poverty line, chooses boy child to sent school and girl child is
Options :
1. ¥ Sent to work
2. % Sent to school with boy child
3. # Forced to marry
4. % Sent for work and school both

Question Number : 195 Question Id : 9277595677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e T a1 & siarfd o ara sif¥e i uRaR, faerag 9oH & ot ded FTIuT aRd § IR SifedT bt
Options :

1. ¥ BT B UoT Il &

2. % TSP & 1Y faemerg U7 Sirar 8

3. % fqare o & fore AoIeR foran ST €

4. % BT IR fagmer g & o o Srar §

Question Number : 196 Question Id : 9277595678 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The hidden-curriculum concept is based on_ .

Options :

1. ¥ the recognition that students absorb lessons in school that may or may not be part of the formal course of study
2. # perpetuate unequal power relations operating among gender

3. # existing social and cultural ethos of the society

4. % policies on gender equality in education and practices

Question Number : 196 Question Id : 9277595678 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



U3d Uluad RO TR STTRA g

Options :

1. ¢ g8 AdT fob o7 faemaa & T8 uTsl ol U801 Hd § S 31T & NU=TNG UTddshH P1 o gl Ht Tohd § 3R el 1 81 I &
2. % ol o &l B IR g 3IHH ad Aeell &I HraH @1

3. % AN & HISGl YIS 3R TRBfAd AHEaR

4. % & 3R yuraft # s IHHar oR Hifar

Question Number : 197 Question Id : 9277595679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not an advantage to the Dramatization technique?
Options :

1. # Great way to learn to express themselves

2. ¥ Used to Explore inferences and interpretations

3. # Helps the children to assume responsibility

4. % Build story telling abilities

Question Number : 197 Question Id : 9277595679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafefad & § S I1 e 6 doh-ie &1 a1y T8l 82
Options :

1. % & B Hdd BT UG Dl AFGR RIDT

2. ¢ U SR SARSATS BT YT T & 1T ITaNT fopan ST @
3. % g I foeR! o H Hag #xdl g

4. % DHEHI He DI &HdT BT FH0 HAT

Question Number : 198 Question Id : 9277595680 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the incorrect definition of "Belief".



Options :

1. # Belief is the state of mind in which a person thinks something to be the case

2. # Belief is, it is a mental representation of an attitude positively oriented towards the likelihood of something being true.
3. ¥ Belief refers to ancient superstitions and religious patterns.

4. ® Belief is a common label for convictions, surmises, suppositions, expectations.

Question Number : 198 Question Id : 9277595680 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
"faYTE" Y TTeTd TRHTST 31 DX
Options :

1. % fayrg 79 & 98 a1 § forad oafad o Tar 8t AT 8

2. % Ty B, o8 fpdt e & 9= 81 1 WHTaHT & Ul GPRIAS T J I V10 & AR ufafifia 21
3. ¢ Oy Ui stufayrl ofR enfifes gfammi &1 defifd #xar g

4. % fyT, YRIT, SFIHTAT, FHeuT, 3Uensii & forg Ue JH ded ¢ |

Question Number : 199 Question Id : 9277595681 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
in research is the degree to which the results of a research can apply beyond the bounds of the project.

Options :

1. * Validity

2. % Reliability

3. ¥ Transferability

4. ¥ Relevance

Question Number : 199 Question Id : 9277595681 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U A g feult & for dee fedht Ty & uRoms uRkaiiern 1 T & W a8 obd g

Options :



1. % Y

2. % Ay
3. ¢ RIHIARUdT
4. % YTTHAm

Question Number : 200 Question Id : 9277595682 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As per the RPWD act, what is the minimum disability criteria to avail any government schemes?
Options :

1. % 50%

2. % 60 %

3. % 70 %

4.9 40 %

Question Number : 200 Question Id : 9277595682 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RPWD 3T & SR, fordlt Hft TRBRY aIe1 o1 v I3 & e g fawaiiTdr Ards aan |2
Options :

1. % 50 %

2. % 60 %

3. % 70 %

4.9 40 %




